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(English Version) 

Section – A (Languages) 

1-  l̀f"V dk foykse 'kCn gS & 

A) ej.k B)  izy; C)  o`f"V D)  eks{k 

2- ^taxy eas yxus okyh vkx* okD;ka'k dk yd 'kCn cryky¡\ 

A)  tBjkuy B)  cM+okuy C)  dkekuy D) nkokuy 

3- ^ges'kk jgus okyk* & yd 'kCn crykya \ 

A)  'kk'or B)  lelkef;d C)  izk.knk D)  ikfFkZo 

4- fuEu esa ls la;qDr okD; dk p;u dhfty & 

A)  tks ifjJe djrk gS] ogh vkxs c<+rk gS A B)  eaS i<+rk g¡ w vkSj og xkrk gS 

C)  D;k esjs fcuk og i<+ ugha ldrk gS D)  ifjJeh O;fDr gh lQyrk izkIr djrk gSA 

5- ^vaMs dk 'kgtknk* eqgkojs dk vFkZ gS & 

A)  detksj O;fDr B)  pkykd O;fDr C)  vuqHkoh O;fDr D)  vuqHkoghu O;fDr 

6- ^psgjs ij gokb;k¡ mM+uk* dk vFkZ gSS% 

A)  rsth ls pyuk B)  ?kcjk tkuk C)  ǔkokc u nsuk D)  Øksf/r gksuk 

7- ^NNwUnj ds flj eas pesyh dk rsy* dk vFkZ g&S 

A)  nku ds fyy lqik=k u gkus k B)  xta  s O;fDr ds flj ij lqxfU/r rys yxkuk 

C)  fcYdqy vui<+ O;fDr dks /u feyuk D)  v;ksX; O;fDr dks vǔNk in feyuk 

8- ^pk;* fdl Hkk"kk dk 'kCn gS\ 

A)  phuh B)  tkikuh C)  izÚsap D)  vaxzsth 

9- ftu 'kCnksa dh mRifÙk dk irk ugha pyrk] mUgsa dgk tkrk gS& 

A) rRle B)   rn~Hko C)  ns'kt D)  ladj 

10- ^og ?kj ls ckgj x;k*& bl okD; esa ^ls* dkSu&lk dkjd gS\ 

A)  drkZ B)  deZ C)  dj.k D)  viknku 

11- fuEufyf[kr eas ls dkSulk 'kCn gS tks lnSo L=khfyax esa iz;qDr gksrk gS\ 

A)  i{kh B)  ckt C)  edM+h D)  xSaMk 

12- fuEufyf[kr laKk&fo'ks"k.k tksM+h esa dkSu&lk lgh ugha gS& 

A)  fo"k&fo"kSyk B)  firk&iSrd̀ 

13- ^lqUnj* dh Hkkookpd laKk g\S 

C) vkfn&vkfne D)  izkar&izkafrd 

A) lqUnjrk B)  lkSUn;Z C)  dsoy ‘A’ D)  ‘A’  o ‘B’ nksuksa 

14- ^fnd~ + xt* dh laf/ gS& 

A)  fndxt B)  fnXxt C)  fnxt D)  dksbZ ugha 
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15-  fo/ku djus okys 'kCnksa dh fo'ks"krk crykusokyk 'kCn fdls dgrs gSa\ 

A) laKk B)  loZuke C)  fo'ks"k.k D)  fØ;k&fo'ks"k.k 

16-  ^lh<+ h ds lgkjs eSa tgkt ij tk igq¡pk* okD; esa ^lh<h+  ds lgkjs* D;k g\S 

A) lk/kj.k mn~n's ; B)  fo/s; foLrkjd C)  mn~ns'; o¼dZ 

17- Hkk"kk dh lcls NksVh bdkbZ gS & 

D) dksbZ ugha 

A) 'kCn B)  ek=kk C)  o.kZ D)  dksbZ ugha 

18-  vuqukfld O;atu dkSu&ls gksrs gSa\ 

A) oxZ ds izFkek{kj B)  oxZ dk r`rh;k{kj C)  oxZ dk pkSFkk O;atu  D)  oxZ dk ipa 

19- orZuh dh nf̀ "V  ls dkSu&lk 'kCn lgh gS\ 

A)  laU;klh B)  lu;klh C)  lU;klh D)  lau;klh 

20- fuEufyf[kr esa ls dkSu lk okD; 'kq¼ gS\ 

A)  eSa xkus dh dljr djrk gw ¡ A B)  eSa xkus dk 'kkSd dj jgk gw ¡ A 

C)  eSa xkus dk vH;kl dj jgk gw¡ A D)  eSa xkus dk O;k;ke dj jgk gww¡ A 

 
 

ek{kj 

 

Directions Qs.21-24: Mark the correct opposites, out of the four choices given, of the following words :- 

21. Adroit  

A) Clumsy B) Clever C) Awakened D) Inaudible 

22. Adventitious    

A) Defiant B) Planned C) Snobbish D) Ruthless 

23. Convalesce    

A) Visible B) Brittle C) Deteriorate D) Scattered 

24. Exasperation    

A) Agony B) Capability C) Bravery D) Pleasure 

 
Directions Qs.25-28: Mark, out of the four given choices, the correct meaning of the italicized idioms/ 

phrases:- 

25. Beyond the black stump:- 

A) beyond the limits of settled, and therefore civilized, life B) beyond the limits of tolerance 

C) beyond one’s ambitions D) beyond one’s capabilities 

26. Chickens come home to roost 

A) a state of indecisiveness 

B) one’s past mistakes or wrongdoings will eventually be the cause of present troubles 

C) a state of extreme tiredness 

D) a state of certainty. 
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27. Dip one’s pen in gall 

A) seek support from others by one’s writings 

B) take decisive action to put an end to an undesirable situation 

C) write spitefully 

D) stay calm despite provocations 

28. A Judas kiss : 

A) affirmation of friendship despite differences 

B) neutralized propaganda 

C) a day dream 

D) act of betrayal especially one disguised as a gesture of friendship 

 
Directions Qs. 29-32:Choose the correct preposition, out of four options , to be filled in the blanks of the 

following sentences :- 

29. Saina Nehwal’s performance is not consistent     her talent. 

A) with B) for C) at D) into 

30. India’s economy is, at present, infested problems 

A) to B) with C) in D) about 

31. He should not be covetous others’ riches. 

A) on B) off C) of D) for 

32. Satish’s errors may be ascribed his carelessness. 

A) at B) with C) for D) to 

 
Directions Qs. 33-36: Choose the correct synonyms of the following words:- 

33. Contagion 

A) Infection B) Container C) Capacity D) Inability 

34. Conspectus 

A) Suspense B) Summary C) Clarity D) Callousness 

35. Grotto 

A) Grotesque B) Opponent C) Cave D) Criticism 

36. Insouciant 

A) Irreverent B) Irrelevant C) Impatient D) Indifferent 

 
Directions Qs. 37-40: Choose the correct form of the following words, out of four given options, as the 

given part of speech in the sentences:- 

37. Up as adverb:- 

A) Prices are up. B) Let us go up the hill 

C) The next up train will leave soon. D) We should not be afraid of ups and downs in life. 

38. Well as adverb:- 

A) Let well alone. B) Well begun is half done. 

C) I hope you are now well. D) Well, who would have thought it? 
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39. Still as noun:- 

A) With his name the mothers still their babies. B) Still waters run deep. 

C) Sita’s sobs could be heard in the still of night. D) He is still in business. 

40. All as noun 

A) He lost his all in speculation. B) All men are mortal. 

C) He was all alone when I saw him. D) All spoke in her favour. 

 
Section – B 

41. Acid rain is caused due to pollution of atmosphere by 

A) Carbon Dioxide B) Methane Gas 

C) Ozone & Carbon Dioxide D) Nitrous Oxide & Sulphur Dioxide 

42. Longitude measures the angular distance, expressed in degrees of a point on the Earth’s surface: 

A) east or west of prime meridian B) north or south of the equator 

C) only east of prime meridian D) only west of the prime meridian 

43. The filament of an electric bulb is made of 

A) iron B) nichrome C) tungsten D) graphite 

44. Which of the following vitamins is considered to be a hormone? 

A) A B) B C) C D) D 

45. The technique used to transmit audio signals in television broadcasts is 

A) Amplitude Modulation B) Frequency Modulation 

C) Pulse Code Modulation D) Time Division Multiplexing 

46. Who proposed the Preamble before the Drafting Committee of the Constitution? 

A) Jawahar Lal Nehru   B) B.R. Ambedkar C) B.N. Rau D) Mahatma Gandhi 

47. National song has been taken from 

A) Bharat Vidhata article written by B.C. Chatterjee B) Totva-Bodhini Patrika edited by Tagore 

C) Novel Durgesh Nandini by B.C. Chatterjee D) Novel Anand Math by B.C. Chatterjee 

48. Which data input method do banks mainly use for processing bank cheques? 

A) OMR B) Bar Code Reader C) MICR D) Light Pen 

49. Which of the following has been appointed as brand ambassador of the Gujarat State Election 

Commission? 

A) Amitabh Bachan B) Cheteshwar Pujara C) Ravinder Jadeja D) Irfan Khan 

50. Which of the following movies has won the Golden Peacock Award (2013) for the Best film 

category in the 44th International Film Festival of India (IFFI) held at Goa ? 

A) 12 Years a slave B) Dallas Buyers Club C) Gravity D) Beatriz’s War 

51. What is the rank of India in Global Corruption Perception Index 2013, according to Transparency 

International ? 

A) 94th B) 77th C) 104th D) 116th 

52. Which one is not a constituent of Human Development Index ? 

A) Life expectancy B) Infant mortality rate 

C) Real per capita income D) Adult literacy rate 
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53. Which of the following is a port town of Indus Valley Civilization? 

A) Harappa B) Alamgirpur C) Banawali D) Lothal 

54. The first electronic computer in the world was 

A) UNIVAC B)   EDVAC C) ENIAC D) none of the above 

55. Which of the following railway platforms located in India has recently been declared as the Largest 

Railway Platform in the world? 

A) Kharagpur B) Sonpur C) Bombay V.T. D) Gorakhpur 

56. Who of the following women became the first woman chairperson of State Bank of India? 

A) Naina Lal Kidwai B)   Chanda Kochar C) Shikha Sharma D) Arundhati Bhattacharya 

57. Tax Administration Reform Commission has been set up under the Chairmanship of : 

A) Parthsarthi Shome B) Kaushik Basu C) Y.V. Reddy D) Vijay Kelkar 

58. What is true about Bitcoin ? 

A) It is currency with high intrinsic value 

B) It is currency with no intrinsic value 

C) Bank of Thailand accepted it as legal 

D) Since its inception the price of Bitcoin has always been lower than Dollar 

59. Bermuda Triangle extend upto which of the following places? 

1. Southern Florida 2. Puerto Rico 3. Hawaii Islands 

Which of the statement(s) given above is/are correct ? 

A) 1,2 and 3 B) 1 and 2 only C) 2 and 3 only D) 1 and 3 only 

60. The famous book, “Chronicle of a Corpse Bearer” is written by: 

A) Vikram Seth B) Kuldeep Nayar C) Arundhati Roy D) Cyrus Mistry. 

61. Which of the following countries has won the Men’s Hockey Asia Cup 2013? 

A) South Korea B) Pakistan C) Malaysia D) India 

62. Which country has qualified for the first time to play in the 11th ICC Cricket World Cup? 

A) Nepal B) Afghanistan C) Netherland D) UAE 

63. Which of the following languages has recently been approved as the sixth classical language of 

India by the Union Cabinet? 

A) Malayalam B) Kannada C) Odia D) Telugu 

64. Which of the following writers was awarded the Sahitya Akademi Award 2013 in English? 

A) Ruskin Bond B) Temsula Ao C) Vikram Seth D) Ramchandra Guha 

65. Name the India’s nuclear-capable strategic missile, with a strike range of about 4000 km tested 

successfully 

A) Akash B) Prithvi-II C) Agni-IV D) Trishul 

66. World Intellectual Property Day is observed on : 

A) 24th December B) 26th April C) 29th June D) 26th June 

67. 23 December 2013 was observed across India as : 

A) Working Women’s Day B) Rashtriya Sadbhavana Diwas 

C) Rashtriya Vigyan Diwas D) Kisan Diwas 
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68. Which of the following cities has bagged the Best Heritage City award for 2012-13 ? 

A) Jaipur B) Tirupathy C) Udaipur D) Hyderabad 

69. Which of the following personalities was awarded the Gandhi Peace Prize for 2013? 

A) M.S. Swaminathan   B) Angela Merkel C) Chandi Prasad Bhatt D) Medha Patekar 

70. Who among the following was crowned Miss Earth 2013? 

A) Bea Rose Santiago B) Maria Gabriela Isler C) Megan Young D) Alyz Henrich 

71. ‘Duma’ is related to ‘Russia’ in the same way as ‘Knesset’ is related to : 

A) Malaysia B) Afghanistan C) France D) Germany 

 
Direction: (Q.Nos. 72-73) Choose the one of the four given alternatives that shows the same 

relationship as is found between the two words/ numbers to the left of the sign:: 

72. Contamination : Food :: Infection : ? 

A) Germs B) Disease C) Body D) Medicine 

73. 42 : 56 :: 110 : ? 

A) 132 B) 136 C) 140 D) 120 

74. Select the pair of words that has the same relationship as in the given pair: 

Hymn : Praise 

A) Dirge : Grief B) Prayer : Congregation C) Liturgy : Rite D) Lullaby :Child 

75. Three of the following four are alike in a certain way and so form a group. Which is the one that 

does not belong to the group? 

A) Volume B) Size C) Large D) Shape 

76. Which of the following does not fit in the letter number series ? 

A) DG2 B) EK5 C) JR6 D) PY8 

77. If BRIGHTEN is written as HJSCMDSG. How is COMPLETE written in that code ? 

A) DSDKQNPD B) QNPDDSDK C) QNPDFUFM D) OLNBFUFM 

78. In a certain language, ‘min fin bin gin’ means ‘trains are always late’; ‘gin din cin hin’ means 

‘drivers were always punished’; ‘bin cin vin rin’ means ‘drivers stopped all trains’ and ‘din kin fin 

vin’ means ‘all passengers were late’. The ‘Drivers were late’ would be written as : 

A) min cin din B) cin din fin C) fin din gin D) gin hin min 

79. ‘YPCUIAT’ are jumbled letters of a meaningful word. Rearrange these letters and select from the 

given alternatives, a word which is opposite in meaning to the rearranged word: 

A) Surplus B) Scarcity C) Presence D) Richness 

80. If ÷ stands for greater than; × stands for addition; + stands for division; – stands for equal to; > 

stands for multiplication; = stands for less than; < stands for minus, then which of the following is 

correct ? 

A) 3 + 2 < 4 ÷ 6 >3 × 2 B) 3×2 < 4 ÷6 + 3 < 2 

C) 3 > 2 < 4– 6 × 3 × 2 D) 3×2×4 = 6 + 3 < 2 
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Direction (Q. Nos. 81-83) : Ten students A, B, C, D, E, F, G, H, I and J are sitting in a row facing 

west. B and F are not sitting on either of the edges; G is sitting to the left of D and H is sitting to 

the right of J. There are four persons between E and A. I is to the north of B and F is to the South 

of D. J is between A and D and G is between E and F. There are two persons between H and C. 

81. Who among the following is definitely sitting at one of the ends? 

A) C B) H C) E D) None of above 

82. Who are the immediate neighbours of I? 

A) B and C B) B and H C) A and H D) B & C or B & H 

83. If G and A interchange their positions then who become immediate neighbours of E ? 

A) G & F B) F only C) A only D) F & A 

84. In a class of boys and girls, Ajay’s rank is 12th and Anu’s rank is 8th, Ajay’s rank among boys is 

6th   and Anu’s rank among girls is 3rd. In the class, Anu’s rank is 52nd from the other end.   From 

the other end, Ajay’s rank among the boys is 26th. Which of the following is Anu’s rank among 

girls from other end? 

A) 23rd B) 28th C) 26th D) None of the above 

85. Pointing to a lady in the photograph, ‘Rekha said, ‘Her son’s father is the son-in-law of my mother’. 

How is Rekha related to that lady? 

A) Aunt B) Sister C) Mother D) Cousin 

86. If ‘A × B’ means that A is sister of B, ‘A÷ B’ means that A is daughter of B, ‘A–B’ means that A is 

son of B. Then how is P related to S in the relationship ‘P–Q × R ÷ S’? 

A) Brother B) Son C) Grandson D) Daughter’s son 

87. Ram drives 10 Kms towards South from his house and turns left and drives another 10 Kms.   He 

again turns left and drives 40 Kms. straight, then he turns right and drives for another 5 Kms to 

reach the bank where he works. How far and in which direction is Ram’s bank from his house? 

A) 33 Kms. North East     B) 45 Kms. North     C) 65 Kms. East      D) 39 Kms. North West 

88. At the end of a business conference, 10 people present shake hands with each other once.   How 

many hand shakes will be there all together ? 

A) 20 B) 45 C) 55 D) 90 

 
Direction (Q. Nos. 89-90): Read the pattern of letters/ numbers/terms and find the missing term 

from the given alternatives: 

89. IAZ,   KEB,   ? , OOF, QUH 

A) MDD B) MII C) MIO D) MID 

90. 266, 339, 528, ? 

A) 630 B) 730 C) 830 D) 930 

91. In the following series some letters are missing which are given in that order as one of the 

alternatives below it. Choose the correct alternatives: 

aac_a_cbab_b_accab_ba_cb 

A) bcacba B) acbaba C) cbcacb D) cabcab 
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92. A person was asked to state his age in years. His reply was, ‘take my age three years hence, 

multiply it by 3 and then subtract three times my age three years ago and you will know how old I 

am’. What was the age of the person? 

A) 18 years B) 20 years C) 24 years D) 32 years 

 
Direction (Q.Nos. 93-94): 120 candidates appeared for examination in three subjects, namely, 

English (E), Maths (M) and Science (S). The number of candidates who failed in E, M and S are 

shown in the diagram given below: 
 

 
93. The number of candidates who failed in at least one subject is : 

A) 25 B) 30 C) 60 D) None of the above 

94. The percentage of candidates who failed in at most two subjects is : 

A) 20.83 B) 25 C) 45.83 D) 95.83 

95. How many triangles are there in the following figure? 
 

  

  

 
A) 17 B) 16 C) 19 D) 21 

96. A painter has painted a cubical box with six different colours for different faces of the cube. 

Red face is between yellow and brown faces. Green face is adjacent to the silver face. Pink face is 

adjacent to the green face. Brown face is at the bottom. Silver and pink faces are opposite to each 

other. The face opposite to red will be: 

A) Yellow B) Green C) Pink D) Silver 

97. A clock seen through a mirror shows quarter past three. What is the correct time? 

A) 9.45 B) 9.15 C) 8.45 D) 3.15 

98. A train X starts from A at 4 PM and reaches B at 5 PM. While another train Y starts from B at 

4 PM and reaches A at 5.30 PM. Two trains will cross each other at: 

A) 4.36 PM B) 4.42 PM C) 4.48 PM D) 4.50 PM 
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Direction (Q. No. 99-100) : Five members A,B,C,D and E of a family eat Grapes, Apple, 

Watermelon, Pomegranate and Pineapple one by one after their lunch from Tuesday to Saturday. 

Each of them eats only one fruit a day.   No two members   eat the same fruit on a day.   Neither B 

nor E eats watermelon or grapes on Wednesday. A eats pomegranate on Thursday. D eats apple on 

Tuesday. E does not eat pineapple on Tuesday. B eats pomegranate on Friday. C eats grapes on 

Saturday. A eats watermelon on Tuesday. D eats pineapple on Wednesday. 

99. Which fruit does E eat on Friday? 

A) Grapes B) Watermelon C) Apple D) Pomegranate 

100. On which day does D eat watermelon? 

A) Wednesday B) Friday C) Saturday D) Thursday 

101. If students do not understand what is taught in the classroom, the teacher should:- 

A) Explain it in a different way B) Feel terribly bored 

C) Feel that he is wasting time D) Pity the students 

102. Which of the following will not hamper effective communication in the classroom? 

A) A lengthy statement 

B) A precise statement 

C) An ambiguous statement 

D) A statement which allows the listener to draw her/his own conclusions. 

103. With specific reference to classroom environment , all except one of the major components of 

listening is:- 

A) Hearing B) Being attentive 

C) Answering D) Understanding and remembering. 

104. In order to modify the undesirable behaviour of a student, the most effective method is:- 

A) To punish the student 

B) To bring it to the notice of parents 

C) To make her/him conscious of the consequences of her/his actions 

D) To find out the reasons for her/his undesirable behavior and provide remedies. 

105. If students are not able to follow the topic which is being taught in the classroom, the teacher in the 

classroom should:- 

A) Illustrate the topic with suitable examples. B)Give them prompt reply. 

C) Change the contents of the topic. D) Punish them. 

106. The most important indicator of quality of education in an educational institute is :- 

A) Infrastructural facilities of a school. B) Student achievement level. 

C) Textbook and teaching-learning material. D) Classroom system 

107. Kothari Commission Report on Education was entitled as :- 

A) Learning to be B) Diversification of Education 

C) Education and National Development D)Education for all. 

108. Integral Education Concept is propounded by:- 

A) M.K.Gandhi B) S.Radhakrishnan C) Swami Dayananda D) Sri Aurobindo 
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109. Navodaya Schools have been established to:- 

A) Provide good education in rural areas. B) Increase number of schools in rural areas. 

C) Complete ‘Sarva Shiksha Abhiyan’ D) Check wastage of education in rural areas. 

110. Kindergarten system of education was constituted by 

A) T.P.Nunn. B) Froebel C) Spencer D) Montessori 

111. The main purpose of the new education policy is:- 

A) To provide equal opportunity of education to all. B) To link education with employment 

C) To improve the whole education system D) To spiritualize the education system 

112. Family is the main agency of :- 

A) Formal education B) Technical education C) Secular education D) Informal education 

113. The aim of education should primarily be:- 

A) To prepare the students to face the challenges of practical life 

B) To develop vocational skills of the students 

C) To prepare the students for examinations 

D) To inculcate in them a spirit of cut-throat competition. 

114. The quality of school level education primarily depends on :- 

A) International collaboration B) The quality of teachers’ education 

C) Financial provisions D) Infrastructural facilities. 

115. One of the important theories of moral developments was proposed by:- 

A) Louis Fischer B) Erik Fromm C)Laurence Kohlberg D) Bertolt Brecht 

116. The name of Yashpal Committee Report (1993) is:- 

A) I.C.T. in Teacher Education B) Learning through Moral Values 

C) Learning through Broadcasting D) Learning without Burden 

117. The term ‘kindergarten’ means: 

A) Children’s playground B) Children’s school 

C) Children’s home D) Children’s theatre 

118. ‘Spare the rod and spoil the child’- this assumption is related to the type of discipline which has been 

advocated :- 

A) By naturalist philosophy B) In Victorian Era 

C) By pragmatist philosophy D) In Democratic Era 

119. The heuristic approach is based on :- 

A) Rote memorization B) Home work C) Spirit of Inquiry D) Pleasure-seeking 

120. Symposium is a type of :- 

A) Discovery method B)Lecture method C)Demonstration method D)Discussion method 

 

Section – B 

41-  ok;qe.My ds iznw"k.k ds dkj.k vEy o`f"V fdl }kjk dh tkrh gS% 
A) dkcZu Mkbvk WDlkbM B)  ehFksu xSl 

C)  vkst+ksu vkSj dkcZu Mkbvk WDlkbM D)  ukbVªl vk WDlkbM vkjS 

 

 
lYQj Mkbvk WDlkbM 
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42-  ns'kkUrj dks.kh; nwjh dks ekirk gS ftl dks i`Foh dh lrg ij fcUnq dh fMfxz;ksa esa O;Dr fd;k tkrk gS% 

A) vkfn&js[kka'k ds iwoZ vFkok if'pe B)  Hk weè;js[kk ds mÙkj vFkok nf{k.k 

C)  vkfn&js[kka'k ds dsoy iwoZ D) vkfn&js[kka'k ds dsoy if'pe 
43- fctyh ds cYc dk fQykesUV fdl dk cuk gksrk gS% 

A)  yksgk B)  ukbØkse C)  VaxLVsu D)  xzsQkbV 
44- fdl foVkfeu dks gkekZsu ekuk tkrk gS% 

A) A B) B C) C D) D 

45-  Vsfyfot+u izlkj.kksa esa vkfM;ks flXuykas ds laØe.k ds fyy i;z qDr rduhd gS% 
A) vk;ke fu;a=k.k B)  vkof̀ Ùk fu;a=k.k C)  iYl dksM fu;a=k.k D)  le; foHkktu cgqfo/dj.k 

46-  lafo/ku dh MªkfÝVax  lfefr ds vkxs izLrkouk fdl us izLrkfor dh Fkh% 

A) tokgj yky usg: B)  ch- vkj- vacsMdj C)  ch- yu- jko D)  egkRek xk¡/h 
47- jk"Vªh; xku dgk¡ ls fy;k x;k gS% 

A)  ch- lh- pSVthZ }kjk jfpr Hkkjr fo/krk fucU/  B)  Vsxksj }kjk laikfnr if=kdk rksRok&cksf/uh 

C)  ch- lh- pSVth Z dk miU;kl nqxs'Z k ufUnuh D)  ch- lh- pSVthZ dk miU;kl vkaun eB 
48-  cSda eq[;r% cSad psdkas dh ikz slsflax esa fdl MkVk bUiVq fof/ dk iz;ksx djrs g%aS 

A) OMR B)  ckj dksM jhMj C)  MICR D)  ykbV isWu 

49-  xqtjkr jkǔ;  fuokZpu vk;ksx dk czkaM yecslsMj fdl dks fu;qDr fd;k x;k gS% 

A) vferkHk cǔpu B)   psrs'oj itq  kjk C)  jkfonja tMts  k D)  bjQku [k+k¡ 
50-  xksok esa gqy Hkkjr ds 44&osa varjjk"Vªh; fQYe mRlo (IFFI)  esa Js"B fQYe dh dksfV esa xksYMu ihdkWd iqjLdkj 

(2013) fdl fQYe dks fn;k x;k gS% 
A) 12 Years a slave B) Dallas Buyers Club 
C) Gravity D) Beatriz’s War 

51-  ikjxkeh varjjk"Vªh; laLFkk (Transparency   International) ds vuqlkj] fo'o Hkz"Vkpkj izR;{k.k lwpdkad 2013 esa 
Hkkjr dk jaSd D;k gS% 
A) 94&oka B)  77&oka C)  104&oka D)  116&oka 

52- ekuo fodkl lwpdkad dk ?kVd dkSu&lk ugha gS% 
A)  thou izR;k'kk B)  f'k'kq e`R;q nj 

C)  okLrfod izfr O;fDr vk; D)  izkS<+ lk{kjrk nj 
53- flU/q ?kkVh lH;rk dk canjxkg 'kgj dkSu&lk gS 

A) gM+Iik B)  vkyexhjiqj C)  cuokyh D)  yksFkky 
54- fo'o esa igyk bysDVªkWfud dIa ;wVj Fkk% 

A)  UNIVAC B) EDVAC C) ENIAC D)  bu esa ls dksbZ Hkh ugha gS 
55- Hkkjr esa fLFkr fdl jsyos IysVQkeZ dks gky gh esa fo'o esa lc ls cM+k jsyos IysVQkeZ ?kksf"kr fd;k x;k gS% 

A)  [kM+xiqj B)  lksuijq C)  cEcbZ oh- Vh- D) xksj[kijq 
56- LVsV cSad vkWQ bfUM;k dh igyh efgyk vè;{k dk uke gS% 

A) u;uk yky fdnobZ B)  pUnk dkNs  M+ C)  f'k[kk 'kekZ D)  v:u/fr HkVV~ kpk;Z 
57- dj iz'kklu lq/kj vk;ksx fdl dh vè;{krk esa LFkkfir fd;k x;k gS% 

A) ikFkZlkFkhZ lkses B)  dkSf'kd cklw C)  okbZ- oh- jsM~Mh D)  fot; dsydj 
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58- fcVdkWbu ds ckjs esa lgh D;k gS% 

A) ;g mǔp vkarfjd ewY; dh eqnzk gS B)  ;g fdlh Hkh vkarfjd ewY; dh eqnzk ugha gS 
C) FkkbySaM ds cSad us bls oS/ eqnzk ds :Ik eas Lohdkj fd;k 

D) blds vkjaHk ls ysdj fcVdk Wbu dh dher ges'kk gh MkWyj ls de jgh gS 
59- cew ZMk f=kHkqt fdl txg rd tkrh gS% 

1- nf{k.kh ÝyksfjMk 2- IohVks jhdks 3-  gokbZ  }hi 
mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa % 
A)  1]2 vkSj 3 B)  dsoy 1 vkSj 2 C)  dsoy 2 vkSj 3 D)  dsoy 1 vkSj 3 

60- ifz l¼ iqLrd ‘Chronicle of a Corpse Bearer’   dk ys[kd dkSu gS% 
A)  foØe lsB B)  dqynhi  u;j C)  v:U/fr jk; D)  lk;jl  feL=kh 

61-  fdl ns'k us inq "kksa dk gkWdh yf'k;k di 2013  thrk g%S 
A) nf{k.k dkfs j;k B)  ikfdLrku C)  eysf'k;k D)  Hkkjr 

62-  fdl ns'k us 11&osa ICC  fØfdV fo'o di esa igyh ckj [ksyus dh vgZrk izkIr dh gS% 
A) usiky B)   vQxk+fuLRkku C)  uhnjySaM D)  UAE 

63-  fdl Hkk"kk dks dsUnzh; eU=khe.My us gky gh esa Hkkjr dh NBh Dykfldh Hkk"kk Lohdkj fd;k gS% 

A) ey;kye B)  dUuM+ C)  vkfs M;k D)  rsyqxq 

64-  fdl ys[kd dks vaxzts  +h eas 2013 dk lkfgR; vdkneh iqjLdkj iznku fd;k x;k Fkk% 
A) jfLdu ckWUM B)  relqyk vkvks C)  foØe lsB D)  jkepUnz xqgk 

65-  Hkkjr ds ijek.kq&;ksX; j.kuhfrd vL=k dk uke crkvks ftl ds 4000km  izgkj ijkl dk lQyrkiwoZd ijh{k.k 
fd;k x;k gS% 
A) vkdk'k B)  i`Foh&II C)  vfXu-IV D)  f=k'kwy 

66- fo'o ckSf¼d lEifÙk fnol dc euk;k tkrk gS% 
A)  24 fnlacj B)  26 vizyS C)  29 twu D)  26 twu 

67-  23 fnlacj 2013 dks laiw.kZ Hkkjr eas fdl ds :Ik esa euk;k x;k Fkk% 
A) dk;Zdkjh efgyk fnol B)  jk"Vªh; ln~Hkkouk fnol 

C)  jk"Vªh; foKku fnol D)  fdlku fnol 
68- fdl 'kgj us 2012&13 ds fyy lokZsÙe fojklr iqjLdkj  izkIr  fd;k gS% 

A)  t;iqj B)  fr:ifFk C)  mn;iqj D)  gSnjkckn 
69- fdl O;fDr dks 2013 ds fyy  xk¡/h 'kkfUr iqjLdkj fn;k x;k Fkk% 

A)  ye- yl- LokfeukFku B)  yUtys  k  edZsy 
C)  pUMh izlkn HkV~V D)  es/k  ikVds  j 

70-  fdl dks fel vFkZ 2013 dk rkt iguk;k x;k Fkk % 
A) csvk jkst+ lkafVvkxks B)  ekfj;k xScjhyk bLyj  C)  esxku ;ax D)  yfyt+ gsfuzd 

71-  ‘Duma’  ̂ :l* ls mlh rjg lacaf/r gS tSls ‘Knesset’   ls lacaf/r g%S 

A) eysf'k;k B)  vQx+kfuLrku C)  Qzkal D)  teZuh 
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funsZ'k % (iz'u Uak- 72&73) % fn, x, pkj fodYiksa esa ls ,d fodYi dks pqusa tks mlh laca/ dks n'kZkrk gS tks 

fpUg : :  dh ckb±Z vksj nks  'kCnksa@la[;kvksa esa gS% 

72-  lanw"k.k  %  vkgkj  : :   laØe.k  % \ 

A) jksxk.kq  B)  jksx C)  'kjhj D)  nokbZ 
73- 42 %  56  % % 110  % \ 

A) 132 B) 136 C) 140 D) 120 

74-  ml 'kCn&tksM+s dks pqusa ftl dk ogh laca/ gS tks fny xy tksM+ s esa g%S 
Hktu % Lrqfr 
A) 'kkds  xhr % 'kksd B)  izkFkZuk % lHkk C)  mikluk i¼fr % vuq"Bku D)  yksjh %  cǔpk 

75-  fuEukafdr pkj esa ls rhu fdlh rjhds ls leku gaS 

lewg ls lacaf/r ugha gS\ 
vkSj blhfyy yd lewg cukrs gSa A og yd dkSu&lk gS tks bl 

A) okY;we B)  vkdkj C)  cM+k D)  :Ik 
76-  v{kj la[;k vuqØe esa dkSu&lk fQV ugha gksrk% 

A) DG2 B) EK5 C) JR6 D) PY8 

77-  ;fn BRIGHTEN   dks HJSCMDSG   fy[kk tkrk g]S  rks ml dksM eas COMPLETE   dks dSls fy[kk tkrk gS% 
A) DSDKQNPD        B) QNPDDSDK C) QNPDFUFM D) OLNBFUFM 

78-  yd fo'ks"k Hkk"kk esa ‘min fin bin gin’  dk eryc gS ‘trains are always late’; ‘gin din cin hin’  dk eryc gS 
‘drivers were always punished’; ‘bin cin vin rin’  dk eryc gS ‘drivers stopped all trains’  vkSj ‘din 

kin fin vin’ dk eryc gS ‘all passengers were late’. ‘Drivers were late’ dks dSls fy[kk tkyxk% 
A) min cin din B) cin din fin C) fin din gin D) gin hin min 

79-  ‘YPCUIAT’  yd vFkZiw.kZ 'kCn ds ?kkyesy v{kj gSaA bu v{kjksa dks iqu% Øec¼ djas vkSj fny xy fodYiksa esa ls 
ml 'kCn dks pqusa tks iqu% Øec¼ 'kCn ls vFkZ esa fon¼kFkZd gks% 
A) Surplus     B) Scarcity C) Presence D) Richness 

80-  ;fn ÷  dk eryc ^ls ǔ;knk*;  ×  dk eryc ^teka*;  +  dk eryc ^Hkkx*;  –  dk eryc ^cjkcj* gS;  >  dk eryc 

^xq.kk*;  = dk eryc gS ^ls de*;  <  dk eryc gS ^Í.k&fpUg*;  rks fuEukfa dr esa ls dkSu&lk lgh gS% 
A) 3 + 2 < 4 ÷ 6 > 3 × 2 B) 3 × 2 < 4 ÷ 6 + 3 < 2 
C) 3 > 2 < 4 – 6 × 3 × 2 D) 3 × 2 × 4 = 6 + 3 < 2 

 
funzsZ'k% (iz'u ua- 81&83)% A,  B,  C,  D,  E,  F,  G,  H,  I  vkSj J  nl fo|kFkhZ if'pe dh fn'kk esa eq¡g dj ,d 

iafDr eas cSBs gSaA B  vkSj F  fdlh Hkh fljs ij ugha cBS  s gaS_ G,  D  dh ckbZ± vksj vkSj H,  J  ds nkbZ± vksj cSBk gSA E 

vkSj A  ds njfe;ku pkj O;fDr cSBs gSaA I,  B  ds mÙkj dh vkjs  vkjS F,  D  ds nf{k.k dh rjQ cSBk gS A J,  A 

vkSj D  ds njfe;ku gS vkSj G, E  vkSj F  ds njfe;ku gSA H  vkSSj C  ds njfe;ku nks O;fDr cBS 

81-  fuEukafdr esa ls dkSu fuf'pr :Ik esa yd fljs ij cSBk gS% 

s gSaA 

A) C B)  H C)  E D)  buesa ls dksbZ Hkh ugha gS 
82-  I  ds fcYdqy lkFk dkSu cSBs gSa 

A) B  vkSj C B)  B  vkSj H C)  A  vkSj H D)  B  vkSj C  vFkok B  vkSj  H 

83-  ;fn G  vkSj A  vius LFkku yd nwljs ls cny ysa] rks E  ds fcYdqy ikl dkSu gS\ 

A) G  vkSj F B)  dsoy F C)  dsoy A D)  F  vkSj A 



ZBG-20995-A > 15 < Contd. 

 

 

84-  yM+dkas vkSj yM+fd;ksa dh d{kk esa vt; dk jSad 12&oka gS vkSj v.kq dk jSda 8&oka gSA yM+dksa eas vt; dk jSad 

6&oka gS vkSj yMf+ d;kas esa v.kq dk jSad rhljk gSA d{kk esa] nwljs fljs ls v.kq dk jSad 52&oka gSA yMd+ ksa esa] nwljs 
fljs ls vt; dk jSad 26&oka gSA nwljs fljs ls yM+fd;ksa eas v.kq dk jSad fdruk gS% 
A) 23&oka B)  28&oka C)  26&oka D)  bu esa ls dksbZ Hkh ugha gS 

85-  rlohj eas yd efgyk dh vksj b'kkjk djrs gqy] js[kk us dgk;  ^ml ds csVs dk firk esjh ekrk dk nkekn gS*A js[kk 
dk ml efgyk ls D;k fj'krk gS% 
A) vkaV B)  cgu C)  ekrk D)  dtu+ 

86-  ;fn ‘A  ×  B’  dk eryc gS fd A,  B  dh cgu gS] ‘A  ÷  B’  dk eryc gS fd A,B  dh csVh gS] ‘A–B’  dk 
eryc gS fd A, B  dk csVk gS] rks ‘P – Q × R ÷ S’ ds fj'krs esa P  dk S  ls D;k fj'krk gS% 
A) HkkbZ B)  csVk C)  iksrk@nksrk D)  csVh dk csVk 

87-  jke vius ?kj ls xkM+h esa 10  kms  nf{k.k dh rjQ tkrk gS] cky¡ eqM+rk gS vkSj 10  kms  vkSj tkrk gSA og ckbZ± vksj 

eqM+rk gS vkSj lh/k 40  kms  tkrk gS] fQj nkbZ± vkjs  eqM+rk gS vkSj cdaS rd igp¡ q  us ds fyy 5  kms  tkrk gS tgk¡ 
og dke djrk gSA jke dk cSad mlds ?kj ls fdruh nwjh ij vkSj fdl fn'kk eas gS% 

A) 33 kms,  mÙkj iwoZ B)  45 kms,  mÙkj C)  65 kms,  iwoZ D) 39 kms,  mÙkj if'pe 
88- yd dkjksckjh lEesyu esa] mifLFkr 10 yksx yd nwljs ls yd ckj gkFk feykrs gSaA dqy fdrus gkFk feyky xy gksaxs% 

A) 20 B) 45 C) 55 D) 90 
 

funsZ'k (iz'u ua- 89&90) % v{kjksa@la[;kvksa@inksa ds isVuZ dks i<s+a vkjS 

ekywe djsa% 

89- IAZ, KEB, ? , OOF,   QUH 

fuEukafdr fodYiksa esa ls xk;c in 

A) MDD B) MII C) MIO D) MID 

90- 266] 339] 528] \ 

A) 630 B) 730 C) 830 D) 930 
91-  fuEukafdr yM+h eas dNq 

pqus%a 
v{kj xk;c gSa tks mlh Øe esa yd fodYi ds :Ik esa uhps fny xy gSaA lgh fodYi dks 

aac_a_cbab_b_accab_ba_cb 
A) bcacba B) acbaba C) cbcacb D) cabcab 

92-  yd O;fDRk dks ml dh vk;q dks lkykas esa crkus ds fyy dgk x;k FkkA ml dk mÙkj Fkk] ^esjh rhu lky ds ckn 
dh vk;q dks ysa] ml dks 3 ls xq.kk djsa vkSj esjh rhu lky igys dh vk;q dk 3 xq.kk dj bl esa ls ?kVky¡] rks vki 
dks irk py tkyxk fd esjh vk;q fdruh gSA O;fDr dh vk;q D;k Fkh% 

A) 18 lky B)  20 lky C)  24 lky D)  32 lky 
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funsZ'k (iz'u ua- 93&94)%  120 fo|kFkhZ vaxszt+h (E)  xf.kr (M)  vkSj foKku (S)  rhu fo"k;ksa esa ijh{kk esa cSBsA 

tks fo|kFkhZ E, M  vkSj S  esa Qsy gq, mu dh la[;k dks uhps fn, x, js[kkfp=k esa fn[kk;k x;k Gsa 
 

93-  tks  fo|kFkhZ de ls de yd fo"k; esa Qsy gqy] mudh la[;k gS% 

A) 25 B)  30 C)  60 D)  buesa ls dksbZ Hkh ugha gS 
94- tks fo|kFkhZ vf/d ls vf/d nks fo"k;ksa esa Qsy gqy] mu dh ifz r'krrk gS % 

A)  20-83 B)  25 C)  45-83 D)  95-83 

95-  uhps fny js[kkfp=k esa fdrus f=kHkqt gSa% 

 

 

 

A) 17 B) 16 C) 19 D) 21 

96-  yd isaVj us yd f=k?kkrh cDls dks bl ds fofHkUu eq[kkas dks Ng fHkUu jaxksa ls isaV fd;k gSA yky eq[k ihys vkSj Hkwjs 
eq[k ds njfe;ku gSA gjk eq[k jftr eq[k ds vklUu gSaA xqykch eq[k gjs eq[k ds vklUu gSA Hk wjk eq[k uhps gSA jftr 
vkSj xqykch eq[k yd nwljs ds lkeus gSaA yky ds lkeus dk eq[k gksxk% 
A) ihyk B)  gjk C)  xqykch D)  jftr 

97-     niZ.k esa ns[kh ?kM+h esa lok rhu cts gSaA lgh oDr  D;k gS% 
A)  9-45 B)  9-15 C)  8-45 D)  3-15 

98-  yd jsyxkM+h X,  A  ls 'kke 4 cts pyrh gS vkSj B  ij 'kke 5 cts igqp¡ rh gSA tcfd yd nwljh jys xkM+h Y,  B  ls 
'kke 4 cts pyrh gS vkSj A  ij 'kke 5-30 cts igq¡p tkrh gSA nksuksa jsyxkfM+;k¡ yd nwljh dks dc ØkWl djsaxh% 

A)  'kke 4-36 B)  'kke 4-42 C)  'kke 4-48 D)  'kke 4-50 
 

funsZ'k (iz'u ua- 99&100) % ,d ifjokj ds ik¡p lnL; A,B,C,D,  vkSj E  exa  yokj ls 'kfuokj rd nkis  gj ds 

[kkus ds ckn ,d ,d dj vaxwj] lsc] rjcwt+] vukj vkjS vuUukl [kkrs gaSA dksbZ nks lnL; ,d gh Qy dks 

,d fnu esa ugha [kkrsA u B  vkSj u gh E  cq/okj dks rjcwt+ ;k vaxwj [kkrs gSaA A  xq:okj dks vukj [kkrk gSA 

D  eaxyokj dks lsc [kkrk gSA E  eaxyokj dks vUkUukl ugha [kkrkA  B  'kqØokj dks vukj [kkrk gSA C  'kfuokj 

dks vaxwj [kkrk gSA A  exa yokj dks rjcwt+ [kkrk gSA D  c/q okj dks vUkUukl [kkrk gS A 

99-  E  'kqØokj dks dkSu&lk Qy [kkrk gS% 

A) vaxjw B)  rjcwt+ C)  lsc D)  vukj 
100-  D  fdl fnu rjcwt+ [kkrk gS% 

A) cq/okj B)  'kqØokj C)  'kfuokj D)  xq:okj 
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101-  ;fn d{kk esa tks dqN i<+k;k tk jgk gS] og fo|kFkhZ dks le> esa u vk jgk gks] rks vè;kid dks % 

A) bl dh nwljs rjhds ls O;k[;k djuh pkfgy B)  vfr vf/d ij's kku gksuk pkfgy 

C)  ;g eglwl djuk pkfgy fd og le; cckZn dj jgk gS D)  fo|kfFk;Z ksa ij rjl [kkuk pkfgy 
102-  d{kk esa izHkkodkjh lpa  kj esa D;k ck/k ugha gksxk % 

A) yEck dFku B)  lqfuf'pr dFku 

C)  vLi"V dFku D)  og dFku tks Jksrkvksa dks vius vius ifj.kke fudkyus dh [kqy nsrk gks 

103-  d{kk ds egkSy ds fo'ks"k lna HkZ e]sa lquus dk yd eq[; vo;o gS% 
A) Jo.k B)  ydkxz jguk C)  mÙkj nsuk D)  le>uk vkSj ;kn j[kuk 

104-  fo|kFkhZ ds vkifÙktud O;ogkj dks :ikarfjr djus ds fyy] vfrvf/d iHz kkodkjh fof/ gS% 
A) fo|kFkhZ dks lt+k nsuk 
B) ekrk&firk ds uksfVl esa ykuk 
C) ml dks ml ds dk;Z ds fyy lko/ku djuk 

D) mlds vkifÙktud O;ogkj ds dkj.kksa dks ekywe djuk vkSj bykt djuk 
105-  ;fn fo|kFkh Z d{kk esa i<+ky tk jgs fo"k; dks le> uk ik jgs gka]s  rks vè;kid dks d{kk e%s 

A) fo"k; dks mi;qDr mnkgj.kksa ls le>kuk pkfgy B)  mudks rqjUr mÙkj nsuk pkfgy 

C)  fo"k; ds lkjrRo dks cny ysuk pkfgy D)  mu dks lt+k nsuh pkfgy 

106-  f'k{kk laLFkk eas f'k{kk dh xq.krk dk egRoiw.kZ lda  srd g%S 
A) Ldwy dh vk/kjHkwr&lajpuk dh lqfo/ky¡ B)  fo|kFkhZ dk miyfC/ Lrj 

C) ikB~;iqLrd vkSj vè;kiu&vf/xe lkexzh D)  d{kk O;oLFkk 
107- f'k{kk ij dksBkjh vk;ksx fjiksVZ dk 'kh"kZd D;k Fkk % 

A)  Hkkoh vf/xe B)  f'k{kk dk foo/hdj.k C)  f'k{kk vkSj jk"Vªh; fodkl D)  loZ f'k{kk 
108- lekdfyr f'k{kk vo/kj.kk fdl us izLrqr dh gS% 

A)  ye- ds- xk¡/h B)  yl- jk/kd`".ku C)  Lokeh n;kuna 
109- uoksn; Ldwyksa dk laLFkkiu fdl ds fyy fd;k x;k gS% 

D) Jh vjfcanks 

A) xzkeh.k  {ks=kksa esa vǔNh f'k{kk iznku djus ds fyy  B)  xzkeh.k {ks=kksa esa Ldwyksa dh la[;k c<+kus ds fyy 

C)  ^loZ f'k{kk vfHk;ku* dks laiw.kZ djus ds fyy D)  xzkeh.k  {ks=kksa esa f'k{kk dh cckZnh dks jksdus ds fyy 
110- f'k{kk dh fdaMjxkVZu iz.kkyh fdl }kjk la?kfVr dh xbZ Fkh% 

A)  Vh- ih- uu B)  Qzkscsy C)  LisUlj D)  ekWUVsljh 
111- ubZ f'k{kk uhfr dk eq[; iz;kstu gS% 

A)  lHkh dks f'k{kk dk leku volj iznku djuk B)  f'k{kk dks jkstx+  kj ls tksMu+ k 
C)  laiw.kZ f'k{kk O;oLFkk esa lq/kj ykuk D)  f'k{kk O;oLFkk dk vè;kRehdj.k djuk 

112- ifjokj fdl dh eq[;  ytUlh gS% 

A) vkSipkfjd  f'k{kk B)  rduhdh f'k{kk C)  /eZ&fujis{k f'k{kk D)  vukSipkfjd f'k{kk 
113- f'k{kk dk y{; eq[;r% gksuk pkfgy% 

A) fo|kfFk;Z ksa dks O;kogkfjd thou dh pqukSfr;ksa dk lkeuk djus ds fyy rS;kj djuk 
B) fo|kfFkZ;ksa dh O;kolkf;d dq'kyrkvksa dks fodflr djuk 
C) fo|kfFkZ;ksa dks ijh{kkvksa ds fyy rS;kj djuk 

D) mu ds eu esa ?kkrd izfr;ksfxrk  dh Hkkouk dks cSBkuk 
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Section – C (Subject Knowledge) 

114- Ldwy Lrj dh f'k{kk dh xq.krk eq[;r% fdl ij fuHkZj djrh gS% 

A) varjjk"Vªh; lg;ksx B)  vè;kid dh f'k{kk dh xq.krk 

C)  foÙkh; ikz o/ku D)  vk/kjHkwr&lajpuk  dh lqfo/ky¡  
115- ufS rd fodkl ds yd  egÙoiw.kZ  fl¼kUr dks fdl us izLrqr fd;k Fkk% 

A)  ywbl fQ'kj B)  yfjd izÚkWe C)  ykjsal dksgycxZ D)  crksZYr czpS  r 
116- ;'kiky lfefr fjiksVZ (1993) dk uke gS% 

A)  vè;kid  f'k{kk eas I.C.T. B)  uSfrd  ewY;ksa  }kjk  f'k{kk&izkfIr 

C)  izlkj.k }kjk f'k{kk&ikz fIr D)  Hkkj&eqDr  f'k{kk&izkfIRk 
117- ^fdaMjxkVZu* in dk vFkZ g%S 

A)  cǔpksa dk [kys dk eSnku B)  cǔpksa dk Ldyw 
C)  cǔpksa dk ?kj D)  cǔpksa dh jax'kkyk 

118- ^vf/d ykM&I;kj cǔps dks fcxkM+ nsrk gS*& ;g ekU;rk vuq'kklu ds yd izdkj ls lacfa /r gS ftl dk leFkZu% 
A) izdf̀ roknh  n'kZu us fd;k gS B)  fOkDVkfs j;k  ;qx  esa  fd;k x;k gS 

C)  O;kogkfjdrkoknh  n'kZu  us fd;k gS D)  yksdrkaf=kd  ;qx esa fd;k x;k gS 
119- vUos"k.k mikxe fdl ij  vk/kfjr gS% 

A)  jVu daBLFkdj.k B)  x`g dk;Z C)  iwN&rkN Hkkouk D)  lq[k  izkfIr 
120- ifjppkZ fdl dk izdkj gS% 

A)  [kkst fof/ B)  ysDpj  fof/ C)  izn'kZu fof/ D)  fopkj&foe'kZ fof/ 
 
 

121. Dimension of a subspace W = { (x, y, z, t) : x + z + t = 0, y + z + t = 0 } of ℝ4 is 

(A) 4 (B) 3 (C) 1 (D) 2 

122. If S = { (1, 1, 0), (2, 1, 3) } is a subset of ℝ3 then which one of the following vectors of ℝ3 is 

not in the linear span of S? 

(A) (0, 0, 0) (B) (3, 2, 3) (C) (1, 2, 3) (D) (4/3, 1, 1) 

123. The set { e2x, e3x } for x  ℝ is 

 (A) L.I. over ℝ (B) L.D. over ℝ (C) L.I. over ℝ\{0} (D) none of these 

124. Let T: ℝ3   ℝ2  be a linear transformation defined by T(x, y, z) = (x + y, x - z). Then 

dimension of null space of T is 

(A) 1 (B) 2 (C) 0 (D) none of these 

125. Let T: ℝ2  ℝ3 be a linear transformation defined by T(x, y) = (x + y, x – y, y). Then Rank 

of T is 

(A) 3 (B) 2 (C) 0 (D) none of these 

126. If A and B are symmetric matrices of the same order, then (ABt – BAt) is 

(A) symmetric (B) null matrix (C) skew symmetric (D) none of these 
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127. If A is skew symmetric matrix, then A2 is a 

(A) null  matrix (B) unitary matrix (C) skew symmetric (D) symmetric 

1 0 −1 
128. If R = [2 1 −1], then the top row of R-1 is 

2 3 2 

(A) [5 6 4] (B) [5 −3 1] (C) [2 −1 
1
] (D) [2 0 −1] 

2 

1 2 4 
129. The matrix [3 0 6] has one Eigen Value equal to 3. The sum of other two 

1 1 𝑝 

Eigen Values is 

(A) p – 2 (B) p – 1 (C) p (D) none of these 

130. At what point the line y = x + 1 is a tangent to the curve y2 = 4x ? 

(A) (1, –2) (B) (1, –2), (1, 2) (C) (1, 2) (D) none of these 

131. The parametric equation of a parabola is x = t2 + 1, y = 2t + 1. The Cartesian equation of 

its directrix is 

(A) y = 1 (B) x = 1 (C) y = 0 (D) x = 0 

132. The slope of a line, which passes through the origin, and mid-point of the line segment 

joining the points P(0, – 4) and B(8, 0) is 

(A) 1 
2 

(B) − 
1

 
2 

(C) 1 (D) none of these 

133. The value of x for which the points (x, –1), (2, 1) and (4, 5) are collinear is 

(A) – 1 (B) 2 (C) 1 (D) none of these 

134. The distance between the directrices of the ellipse 9x2 + 4y2 = 36 is 
 

  

(A) 2√5 (B) √5 (C) 9 
√5 

(D)  18 
√5 

135. The distance of the point (2, 3, 4) from the plane 3x – 6y + 2z + 11 = 0 is 

(A) 1 (B) 21 (C) 10 (D) none of these 

136. Let x  and  y be  real numbers and  X  = {(x,  y)  |y = 1,  x  0}, Y  = {(x,  y)  |y =  –  x} be  two  sets 
𝑥 

then 

(A) X  Y = X (B) X  Y = Y (C) X  Y =  (D) none of these 

137. If f(x) = 𝑠i𝑛2(𝑥) + 3 cos x – 5, then f(x) is 

(A) an even function (B) an odd function (C) monotonic (D) none of these 

138. If g = {(1, 1), (2, 3), (3, 5), (4, 7)} is a function described by g(x) = ax + b, then what values 

should be assigned to a and b? 

(A) 1, 1 (B) 1, -2 (C) 2, -1 (D) -2, -1 
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𝑛=1 

0 0 

139. What is the inverse of the function y = 5log  ? 
 

1 1 
  

(A) x = 5 log y (B) x = 𝑦 log 5 (C) x = 5 log y (D) none of these 

140. The limit of the sequence Sn  = { 
(3𝑛+1)(𝑛−2) 

} is 
(𝑛+3) 

(A) 0 (B) 1 (C) 2 (D) 3 

141. The number of elements in the set S = {(a, b)|2a2  + 3b2  =35; a, b are integers}, is 

(A) 8 (B) 4 (C) 2 (D) 12 

142. The series ∑∞ 
𝑛  

is 
 

𝑛=1 e𝑛 

(A) not bounded below (B) convergent (C) divergent (D) none of these 

143. The series ∑∞ 
𝑛!2𝑛  

is
 

𝑛𝑛 

(A) convergent (B) conditional convergent  (C) divergent (D) none of these 
 

144. The limit of the sequence Sn  = {
 3+2√𝑛 

} is 
√𝑛 

(A) 0 (B) 1 (C) 2 (D) none of these 

145. Value of the limit  lim 
 

𝑥→0 
2𝑥 sin 

1
 

2𝑥 
is equal to 

(A) 1 (B) 0 (C) not defined (D) none of these 

146. hich 

(A) f(x) 

(C) f(x) 

147. Which 

(A) f(x)   =   sin 
1

 
𝑥 

(B) 1 
𝑥 

(C) f(x)  = 1 
𝑥2 (D) none of these 

148. The function f(x) = |x| + 3 is 

(A) continuous as well as differentiable on ℝ 

(B) not continuous on ℝ 

(C) continuous but not differentiable anywhere on ℝ 

(D) continuous on ℝ and differentiable on ℝ\{0}. 
 

𝜋 

149. The value of the integral ∫2
 

 
 

√tan 𝑥 
 

dx is 

 
(A) 𝜋 

2 

0  1+√tan 𝑥 

 
(B) 𝜋

 
4 

 

 
(C) 𝜋

 
6 

 
(D) none of these 

150. Value of the Integral ∫
∞ 
∫
∞ 

e−𝑥
2  

e−𝑦
2   

dx dy is 
 

 

(A) √
𝜋

 
2 

(B) √𝜋 (C)   (D) none of these 

of the following statement is true for f(x) = sin x2 in (0, ) ? 

is  not  uniformly  continuous (B) f(x) is not continuous 

is not defined at some points (D) none of these 

one of the following is uniformly continuous in (0, ) ? 
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151. Value of the Integral ∬(𝑥2 + 𝑦2) dx dy over the area bounded by the curves y = x2 and y2 

= x is 

 
(A)  6 

35 
(B) 2 

3 
(C) √𝜋 (D) none of these 

152. The radius of convergence R of the power series ∑ 
𝑥𝑛  

is 
𝑛! 

(A) 0 (B) 1 (C) 2 (D) none of these 

153. The decimal number 1.23657657657657…… is equal to the rational number 

(A) 123/99 (B) 1235/9990 (C) 123657/100000  (D) 123534/99900 

154. In a school there are 20 teachers who teach mathematics or physics. Of these, 12 teach 

mathematics and 4 teach both physics and mathematics. How many teach only physics? 

(A) 12 (B) 8 (C) 16 (D) none of these 

155. How many integers from 1 to 500 are divisible by at least one of 3, 5 and 7? 

(A) 271 (B) 266 (C) 337 (D) none of these 

156. The sup. of the set S = {2 sin x - 3 cos x} is 
 

(A) √11 (B) √12 (C) √13 (D) none of these 

157. Determine for which values of x, the function y = x4 – 4𝑥
3 

is increasing ? 
3 

(A) 1  x  3 (B) x  1 (C) –   x   (D) x  1 
 

1 
 

 

158. The value of the limit lim𝑛→∞(𝑛)𝑛 is 

(A) 1 (B) e (C) 1 
e 

 

 
(D) none of these 

159. A stone is dropped in quite lake  and waves move  in circles at  the  speed of 5  cm s-1.  At 

the instant when the radius of the circular wave is 8 cm, how fast is the enclosed area 

increasing? 

(A) 40  cm2  s-1 (B) 80  cm2  s-1 (C) 60  cm2  s-1 (D) none of these 

160.  If 𝐶𝑛 = 𝑛! Then the sum 𝐶𝑛 + 𝐶𝑛 is equal to 
𝑟 𝑟!(𝑛−𝑟)! 𝑟 𝑟−1 

(A) 𝐶𝑛+1 (B) 𝐶𝑛 (C) 𝐶𝑛+1 (D) none of these 
𝑟 𝑟+1 𝑟+1 

161. If z1, z2 are two non-zero complex numbers such that |z1 + z2|= |z1|+|z2|then arg(z1) – 

arg(z2) is equal to 

(A)  (B) –  (C) 0 (D) 1 

162. Common roots of the equations z3 + 2z2 + 2z + 1 = 0 and z1985 + z100 + 1 = 0 are 

(A) – , – 2 (B) 1, , 2 (C) –1, , 2 (D) , 2 
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163. The vector – 4 ı^ + 5 𝑗^ is turned counterclockwise through an angle of 1800 and stretched 

11 times. The complex number corresponding to the newly constructed vector is 
2 

 

(A) 6 – 15i (B) – 6 + 15i (C) 6 + 15i (D) none of these 
2 2 2 

164. If |z2 – 1|=|z|2 + 1, then z lies on 

(A) circle (B) Real axis (C) Imaginary axis (D) ellipse 

165. The reflection of the complex number 4+3i in the straight line iz = 𝑧̅  is 
1+2i 

(A) 1 – 2i (B) 4 – 3i (C) 3 + 4i (D) 2 + i 

166. If |z + 4| = 3 then the maximum value of |z + 1|is 

(A) 10 (B) 4 (C) 0 (D) 6 

167. The average of the squares of the numbers 0, 1, 2, …, n is 

(A) 1 n (n +1) (B) 1 n (2n +1) (C) 1 (n +1)(2n +1) (D) none of these 
2 6 6 

168. Mean of five observations is 4 and their variance is 5.2. If three of them are 1, 2, 6 then 

other two are 

(A) 2, 9 (B) 5, 6 (C) 2, 10 (D) 4, 7 

169. In a frequency distribution, the mean and median are 21 and 22 respectively, then its 

mode is approximately 

(A) 20.5 (B) 25.5 (C) 24 (D) 22 

170. Mean of 100 observations is 45. It was later found that two observations 19 and 31 were 

recorded incorrectly as 91 and 13, then the correct mean is 

(A) 44.46 (B) 44 (C) 45 (D) none of these 

171. The AM of 𝐶2𝑛+1, 𝐶2𝑛+1, 𝐶2𝑛+1, … , 𝐶2𝑛+1 is 
0 

 

(A) 2
𝑛 

(𝑛+1) 

1 2 
 

(B) 2
2𝑛 

(𝑛+1) 

𝑛 

(C)  2
𝑛

 

𝑛 

 
(D) none of these 

172. The probability that in a family of 5 members, exactly two members have birthday on 

Sunday, is 

(A) 
12×53

 

75 (B) 
10×62

 

75 
(C) 2 

5 
(D) 

10×63
 

75 

173. A five digit number is formed by using the digits 1, 2, 3, 4, 5 in a random order without 

repetitions. Then the probability that the number is divisible by 4 is 

(A) 3/5 (B) 18/5 (C) 1/5 (D) 6/5 

174. A coin is tossed 3 times. The probability of getting head and tail alternatively is 

(A) 1/4 (B) 1/8 (C) 1/2 (D) 3/8 
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175. Probability that in a year of 22nd century chosen at random has 53 Sundays, is 

(A) 3/28 (B) 5/28 (C) 7/28 (D) none of these 
 

176. Solution of the differential equation xdy – ydx = √𝑥2 + 𝑦2 dx is 
 

(A) y + √𝑥2 + 𝑦2 = cx (B) y + √𝑥2 + 𝑦2 = cx2 
 

(C) y - √𝑥2 + 𝑦2 = xc2 (D) none of these 

177. The integrating factor for ydx – xdy = 0 is 

(A) 𝑥 
𝑦 

(B) 𝑦 
𝑥 

(C) 1 
𝑥2+𝑦2 

(D) none of these 

178. The directional derivative of (x, y, z) = xy2   + 4xyz + z2 at the point (1, 2, 3) in the 

direction of 3i + 4j - 5k is 

(A)  78 
5√2 

(B) 
218 

5√2 
(C) 

148 

5√2 
(D) none of these 

179. A particle moves along the curve x = t3 + 1, y = t2 and z = 2t + 5 where t is the time. The 

component of velocity at t = 1 in the direction of 𝑣→  = i + j + 3k will be 

(A) √12 (B) √13 (C) √10 (D) √11 

180. Area of the triangle formed by the tips of the vectors 𝑎→, 𝑏 → and 𝑐→ is 

(A) 1 (𝑎→  - 𝑏 →) (𝑎→  - 𝑐→) (B) 1 |(𝑎→  - 𝑏 →)(𝑎→  - 𝑐→)| (C) 1 |𝑎→  𝑏 →  𝑐→| (D) none of these 
2 2 2 

181. If 𝑟→ = xi + yj + zk then value of div.  𝑟→ 
𝑟3 will be 

(A) 1 (B) 2 (C) 0 (D) none of these 

182. The value of curl (grad f ) i.e. f is equal to 

(A) 1 (B) 2f (C) f f (D) 0 

183. Find the unit normal vector to the level surface x2 + y – z = 4 at the point (-3, 1, 6). 

(A) −6i + j − k 
√38 

(B) −i + j − k 
√3 

(C) −i + 2j − k 
√6 (D) none of these 

184. Find the angle of intersection of the curves y2 = x and x2 = y at point (1, 1). 

(A) 𝑠i𝑛−1 
3

 
4 

(B) 𝑡𝑎𝑛−1 
3

 
4 

(C) 𝑡𝑎𝑛−1 
4

 
5 

(D) none of these 

185. The local maximum values of the function f(x) = 3x4 + 4x3 – 12x2 + 12 are 

(A) 1 (B) 2 (C) – 2 (D) 0 

186. The order of the differential equation 𝑑
2𝑦 

+ 5 
𝑑𝑥2 

𝑑𝑦 
( ) 
𝑑𝑥 

3 

+ 9 y = 0 is 

(A) 3 (B) 1 (C) 2 (D) 5 

187. The general solution of the differential equation (y + x3) dx + (x + 10y3) dy = 0 is 

(A) 4xy + x4 + 10y4  = c (B) 4xy + x4 + y4  = c (C) 4xy + y4  = c (D) none of these 
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188. Every homogeneous equation f(x, y, z) = 0 represents 

(A) Sphere with centre at origin (B) Cone with vertex at origin 

(C) Cylinder (D) None of these 

189. The differential equation of all lines passing through the origin is 

(A) y = √𝑥 
𝑑𝑦 

(B) 
𝑑𝑦  

= x + y (C) 
𝑑𝑦  

= y – x (D) none of these 
𝑑𝑥 𝑑𝑥 𝑑𝑥 

190. How many terms of the G. P. 3, 3, 3, …, are needed to give the sum 3069 ? 
2   4 512 

(A) 8 (B) 10 (C) 9 (D) none of these 

191. If altitudes of a triangle are in AP then sides of the triangle are in 

(A) GP (B) AP (C) HP (D) AG 

192. In an arithmetic progression sum of  terms, equidistant  from the  beginning  and  the  end 

is equal to the 

(A) Last term   (B) First term (C) Second term (D) Sum of the first and last term 

193. If log 2, log (2n – 1), log (2n + 3) are in AP, then n is equal to 

(A) log2 5 (B) log3 5 (C) 5 (D) 25 

194. Number of subsets of a finite set with n elements are 

(A) 2n (B) n! (C) n2 (D) nn 

195. If cos2 A + cos2 C = sin2 B then triangle ABC is 

(A) equilateral (B) right angled (C) isosceles (D) none of these 

196. Let R = { (x, y) | x + 2y = 8 } be a relation on ℕ, then domain of R is 

(A) {1, 2, 3} (B) {1, 2, 3, 4, 5, 6}   (C) {2, 4, 6} (D) {1, 3, 5} 

197. If  is a cube root of unity then  is equal to 
 

 

(A) 3 (B) 1−i√3 
2 

198. If x2 – 3 |x| + 2 < 0 then x belongs to 

 
 

(C) 
1+i√3 

2 

 
 

(D) 
−1+i√3 

2 

(A) (– 2, – 1)  (1, 2) (B) (– 2, 1) (C) (– 2, 2) (D) none of these 

199. The largest interval, among the following, for which x12 – x9 + x4 – x + 1 > 0 is 

(A) (– 4, 0) (B) (0, ) (C) (– 4, 4) (D) (– 100, 100) 

200. The value of sin (cot-1x) is: 
 

 

(A) √1 + 𝑥2 (B) x (C) 1 
√1+𝑥2 

(D) 1 
𝑥 
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Section – C (Subject Knowledge) 

121-  ℝ4  dh milef"V W = { (x, y, z, t) : x + z + t = 0, y + z + t = 0 } dk ?kkr gS% 

A) 4 B) 3 C) 1 D) 2 

122-  ;fn S  =  {  (1,  1,  0),  (2,  1,  3)  }  ℝ3  dk mi&lSV gS] rks ℝ3   dk dkSu lk fuEukafdr osDVj] S  dk jSf[kd LiuS 

ugha gS% 
(A) (0, 0, 0) (B) (3, 2, 3) (C) (1, 2, 3) (D) (4/3, 1, 1) 

123-  x  ℝ ds fyy lsWV { e2x, e3x } gS% 

A) L.I  vksoj ℝ B)  L.D  vksoj ℝ C)  L.I  vksoj ℝ\{0} D)  buesa ls dksbZ Hkh ugha gS 124-

 eku ysa T(x, y, z) = (x + y, x - z)   }kjk ifjHkkf"kr jSf[kd :ikarj.k T: ℝ3   ℝ2      rks  T  ds uy Lisl dk ?kkr 

gS% 

A)  1 B)  2 C)  0 D)  bu esa ls dksbZ Hkh ugha gS 

125- eku ysa T(x, y) = (x + y, x – y, y)   }kjk ifjHkkf"kr jSf[kd :ikarj.k T: ℝ2   ℝ3   rks T  dk jSad gS% 

A)  3 B)  2 C)  0 D)  bu esa ls dksbZ Hkh ugha gS 

126- ;fn A  vkSj B  leku ?kkr ds lefer esfVªDl gSa] rks (ABt – BAt)   gS 

A)  lefer B)  uy esfVªDl C)  fo"ke lefer D)  buesa ls dksbZ Hkh ugha gS 

27- ;fn A  fo"ke lefer esfVªDl gS] rks A2  gS% 

A)  uy esfVªDl B)  ysfdd esfVªDl C)  fo"ke esfVªDl D)  lefer esfVªDl 
1 0 −1 

128-  ;fn  R = [2 1 −1] rks R-1  dh 'kh"kZ ifa Dr gS% 
2 3 2 

(A) [5 6 4] (B) [5 −3 1] (C) [2 −1 
1
] (D) [2 0 −1] 

2 

1 2 4 

129-  esfVªDl [3 0 6] dk yd okLrfod ewY; (Eigen value)  3 ds cjkcj gSA vU; nks okLrfod ewY;ksa dk tksM+ g%S 
1 1 𝑝 

A) p – 2 B) p – 1 C)  p D)   buesa ls dksbZ Hkh ugha gS 

130- fdl fcUnq ij js[kk y =x + 1,  oØ  y2 = 4x  dh Li'khZ js[kk gS % 

A)   (1,-2) B)  (1,-2), (1,2) C)   (1,2) D)   buesa ls dksbZ Hkh ugha gS 

131-  ijoy;  dk izkpfyd lehdj.k x = t2 + 1, y = 2t + 1  gSA blds fu;Urk dk dkVsZft+;u lehdj.k gS % 
A)   y = 1 B)   x = 1 C) y = 0 D) x = 0 

132-  yd js[kk dh <yku] tks P(0,  -  4)  vkSj B(8,0)  fcUnqvksa dks feykus okys js[kk&[kaM ds eyw  

xqt+jrh gS] gS % 

vkSj eè;&fcUnq ls 

A) 
1 

B)  
1
 

2 2 
C) 1 D)   buesa ls dksbZ Hkh ugha gS 

133-  x  dk ewY;] ftl ds fyy (x, – 1), (2,1) vkSj (4,5)   fcUnq lajs[k gS]a  gS % 

A) 1 B)   2 C)  1 D)   buesa ls dksbZ Hkh ugha gS 
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𝑥 

(𝑛+3) 

𝑛=1 

𝑛 

134-  nh?kZo`Ùk  9x2 + 4y2 = 36  ds fu;Urkvksa ds njfe;ku nwjh gS% 
(A) 2√5 (B) √5 (C) 9 

√5 

 
(D)  18 

√5 

135-  lery 3x  6y + 2z + 11 = 0  ls fcUnq (2,3,4)  dh nwjh gS% 

A) 1 B) 21 C)  10 D)   buesa ls dksbZ Hkh ugha gS 

136-  eku ysa x  vkSj y  okLrfod la[;ky¡ gSa vkSj X = {(x, y) |y = 1, x  0}, Y = {(x, y) |y = – x}   nks lSV gSa] rks 

A) X  Y = X B) X  Y = Y C) X  Y =  D)   buesa ls dksbZ Hkh ugha gS 

137- ;fn f(x) = 𝑠i𝑛2(𝑥) + 3 cos x – 5, rks f(x)   gS% 

A)  leQyu B)  fo"ke Qyu C)  ydleku D)  bu esa ls dksbZ  Hkh ughsa gS 

138- ;fn g = {(1, 1),  (2, 3),  (3, 5), (4, 7)}, g(x) =  ax +  b,  }kjk of.kZr Qyu g]S 

pkfgy %  & 

rks a vkSj b  dks D;k ewY; nsus 

(A) 1, 1 (B) 1, -2 (C) 2, -1 (D) -2, -1 

139- Qyu y = 5log   dk izfrykse D;k gS% 
1 1 

(A) x = 5 log y (B) x = 𝑦 log 5 (C) x = 5 log y D)buesa ls dksbZ Hkh ugha gS 

140- Sn  = { 
(3𝑛+1)(𝑛−2) 

} vuqØe  dh lhek gS% 

(A) 0 (B) 1 (C) 2 (D) 3 

141-  lSV S = {(a, b)|2a2  + 3b2  =35; a, b  iw.kk±Zd gSa  },   esa vodyksa dh la[;k gS% 

A)   8 B)   4 C) 2 D) 12 
142-  Js.kh  ∑∞ 

𝑛     gS% 
 

𝑛=1 e𝑛 

A) uhps ls vifjca/ B)   vfHklkjh C)  vilkjh D) bu esa ls dksbZ Hkh ughsa gS 

143-  Js.kh ∑∞ 
𝑛!2𝑛 

 

 

𝑛𝑛 

A) vfHklkjh B)   ifz rca/d vfHklkjh C) vilkjh D)   bu esa ls dksbZ Hkh ughsa gS 

144-  vuqØe Sn  = { 
3+2√𝑛 

} dh lhek gS% 
√ 

A) 0 B)   1 C)  2 D)   buesa ls dksbZ Hkh ugha gS 

145-  lhek lim𝑥→0 
2𝑥 sin 

1
 

2𝑥 dk ewY; cjkcj gS% 

A) 1 B)   0 C)  fuf'pr ugha gS D)   buesa ls dksbZ Hkh ugha gS 

146- (0, ) eas f(x) = sin x2   ds fyy dkSu&lk dFku lgh gS% 

A)   f(x)  ydleku v[k.M ugha gS B)   f(x) v[k.M ugha gS 

C) dqN fcUnqvksa ij f(x)  ifjHkkf"kr ugha gS D)   buesa ls dksbZ Hkh ugha gS 

147- (0, ∞)   esa dkSu&lk ydleku v[k.M ugha gS% 
(A) f(x)   =   sin 

1
 
𝑥 

(B) 1 
𝑥 

(C) f(x)  = 1 
𝑥2 D) buesa ls dksbZ Hkh ugha gS 

gS 



ZBG-20995-A > 27 < Contd. 

 

 

2    dx    dk ewY; gS % 

0 

𝑛! 

3 

0 

√ 

148-  Qyu f(x) = |x| + 3   gS% 

A) ℝ  ij v[k.M vkSj vodyuh; B)   ℝ  ij v[k.M ugha 

C) v[k.M ijUrq ℝ  ij dgaha Hkh vodyuh; ugha D)   ℝ    ij v[k.M vkSj ℝ\{0}  ij vodyuh; 

149-  lekdy 

𝜋 
   √tan 𝑥  

∫ 
0 1+√tan 𝑥 

(A) 𝜋 
2 

 
(B) 𝜋

 
4 

 
(C) 𝜋

 
6 

D) buesa ls dksbZ Hkh ugha gS 

150-  lekdy ∫
∞ 
∫
∞ 

e−𝑥
2  

e−𝑦
2   

dx dy    dk ewY; gS % 
 

 

(A) 
𝜋 

(B) √𝜋 (C)    D)   buesa ls dksbZ Hkh ugha gS 
2 

151-  y = x2  vkSj y2  = x    oØksa }kjk c¼ {ks=kQy ij nekdy ∬(𝑥2 + 𝑦2) dx dy  dk ewY; gS% 
 

(A)  6 
35 

(B) 2 
3 (C) √𝜋 D)   buesa ls dksbZ Hkh ugha gS 

152-  ?kkr Js.kh ∑ 
𝑥𝑛
 dk vfHklj.k R  dk O;klk/Z gS% 

A) 0 B)  1 C)  2 D)   buesa ls dksbZ Hkh ugha gS 

153- n'keyo la[;k 1.23657657657657…… cjkcj gS ifjes; la[;k% 
(A) 123/99 (B) 1235/9990 (C) 123657/100000  (D) 123534/99900 

154-  yd Ldwy essa 20 vè;kid gaS tks xf.kr vFkok HkkSfrdh i<+krs gSaA buesa ls] 12 xf.kr i<+krs gSa vkjS 

HkkSfrdh i<+krs gSaA dsoy HkkfS rdh fdrus vè;kid i<k+ rs gSa% 

A) 12 B)   8 C)  16 D)   buesa ls dksbZ Hkh ugha gS 

4 xf.kr vkSj 

155-  1 ls 500 rd fdrus i.w kkZd± 3]5 vkSj 7 eas ls de ls de yd }kjk Hkkǔ; g%S 

A) 271 B)   266 C)  337 D)   buesa ls dksbZ Hkh ugha gS 

156- lSV S = {2 sin x - 3 cos x}   dh sup.  gS % 

(A) √11 (B) √12 (C) √13 D)   buesa ls dksbZ Hkh ugha gS 

157-  fu/kfZ jr djsa fd x   ds fdu  ewY;ksa ds fyy Qyu y = x4  – 4𝑥
3

 c<+ jgk g%S 

(A) 1  x  3 (B) x  1 (C) –   x   (D) x  1 
 

1 

158-  lhek lim𝑛→∞(𝑛)𝑛      dk ewY; gS% 
(A) 1 (B) e (C) 1 

e 

 

D)   buesa ls dksbZ Hkh ugha gS 

159-  yd 'kkURk >hy esa iRFkj Qsda k tkrk gS vkSj rjaxas o`Ùkkas eas 5cm  s-1  dh xfr ls pyrh gSaA yd {k.k ij tc 

o`Ùkkdkj rjax dk O;klk/Z 8cm  gS] rks ifjc¼ {ks=k fdruh rst+h ls c<+ jgk gS% 

(A) 40  cm2  s-1 (B) 80  cm2  s-1 (C) 60  cm2  s-1 D)   buesa ls dksbZ Hkh ugha gS 
160- ;fn 𝐶𝑛  = 𝑛! rks  𝑛  + 𝐶𝑛   dk tksM+ cjkcj gS% 

𝑟 𝑟!(𝑛−𝑟)! 𝑟 𝑟−1 

(A) 𝐶𝑛+1 (B) 𝐶𝑛 (C) 𝐶𝑛+1 D)   buesa ls dksbZ Hkh ugha gS 
𝑟 𝑟+1 𝑟+1 

161-  ;fn z1, z2    nks xSj&'kwU; lfEeJ la[;ky¡ gSa rkfd |z1  + z2|= |z1|+|z2|  rks arg(z1) – arg(z2)   cjkcj gS% 
(A)  (B) –  (C) 0 (D) 1 
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1+2i 

162-  z3  + 2z2  + 2z + 1 = 0   vkSj z1985  + z100   + 1 = 0   lehdj.kksa ds lkoZ eyw g%Sa 
(A) – , – 2 (B) 1, , 2 (C) –1, , 2 (D) , 2 

163-  osDVj –  4 ı̂   +  5 𝑗    dks 1800  ds dks.k }kjk izfr&nf{k.kkoÙkZ ?kqek fn;k tkrk gS vkSj 1½   xquk QSyk fn;k tkrk 

gSA uy cus osDVj ds vuq:i lfEeJ  la[;k gS% 
(A) 6 – 15i (B) – 6 + 15i (C) 6 + 15i D)   buesa ls dksbZ Hkh ugha gS 

2 2 2 

164-  ;fn |z2  – 1|=|z|2  + 1,   rks z  fdl ij fLFkr gksxk% 

A)   o`Ùk B)  okLrfod v{k C)  dkYifud v{k D)   buesa ls dksbZ Hkh ugha gS 

165- yd lh/h js[kka iz = 𝑧̅    esa lfEeJ la[;k 4+3i dk ijkorZu gS% 
(A) 1 – 2i (B) 4 – 3i (C) 3 + 4i (D) 2 + i 

166-  ;fn |z + 4| = 3   rks |z + 1| dk vf/dre  ewY; g%S 

A)   10 B) 4 C) 0 D) 6 

167-  0,1,2,…., n   la[;kvksa dh oxksZ± dk vkSlr gS% 
(A) 1 n (n +1) (B) 1 n (2n +1) (C) 1 (n +1)(2n +1) D)   buesa ls dksbZ Hkh ugha gS 

2 6 6 

168-  ik¡p isz{k.kksa dk ekè; 4 gS vkSj budk izlj.k 5-2 gSA ;fn buesa ls rhu 1]2]6 gSa] rks vU; nks gaS% 
A) 2,9 B) 5,6 C) 2,10 D) 4,7 

169-  vko`fÙk forj.k es]a ekè; vkSj ekfè;dk] Øe'k% 21 vkSj 22 gSa] rks bldk cgyq d yxHkx gS% 

A)   20.5 B) 25.5 C) 24 D) 22 

170-  100 izs{k.kksa dk ekè; 45 gSA ckn esa ekywe gvq 

fd;k x;k Fkk] rks lgh ekè; gS% 

k fd 19 vkSj 31 nks izs{k.kksa dks 91 vkSj 13 ds :Ik esa x+yr fjdkMZ 

A)  44.46 B)   44 C) 45 D)   buesa ls dksbZ Hkh ugha gS 
171- 𝐶2𝑛+1, 𝐶2𝑛+1, 𝐶2𝑛+1, … , 𝐶2𝑛+1     dk AM  gS% 

0 1 

(A) 2
𝑛 

(𝑛+1) 

2 𝑛 

(B) 2
2𝑛 

(𝑛+1) 
(C)   2

𝑛

 

𝑛 D)   buesa ls dksbZ Hkh ugha gS 

172-  ;g laHkkouk fd 5 lnL;ksa ds yd ifjokj esa] nks lnL;ksa dk tUefnu Bhd Bhd brokj dks gS] gS % 
(A) 

12×53
 

75 (B) 
10×62

 

75 
(C) 2 

5 
(D) 

10×63
 

75 

173-  yd csrjrhcs  Øe esa fcuk nksgjky 1]2]3]4]5 vadkas ds iz;ksx ls yd 5 vadkas dh la[;k cukbZ tkrh gSA og la[;k 

4 }kjk Hkkǔ; gS] bldh laHkkouk g%S 
A) 3/5 B)   18/5 C) 1/5 D) 6/5 

174-  yd flDds dks  3 ckj mNkyk tkrk gSA oSdfYid rkSj ij fpÙk vkSj iV vkus dh laHkkouk gS% 
A) 1/4 B)   1/8 C) 1/2 D) 3/8 

175-  22&oha  'krkCnh esa ;knf̀ ǔNd <ax ls pqus yd o"kZ eas  53 brokj gksus dh laHkkouk gS% 

A) 3/28 B)   5/28 C) 7/28 D)   buesa ls dksbZ Hkh ugha gS 
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𝑟3 

𝑑𝑥2 

176-  vody lehdj.k xdy – ydx = √𝑥2 + 𝑦2 dx   dk gy gS% 
(A) y + √𝑥2 + 𝑦2 = cx (B) y + √𝑥2 + 𝑦2 = cx2 

(C) y - √𝑥2 + 𝑦2 = xc2 (D) buesa ls dksbZ Hkh ugha gS 

177- ydx – xdy = 0   ds fyy lekdyd Qyu gS% 
(A) 𝑥 

𝑦 
(B) 𝑦 

𝑥 
(C) 1 

𝑥2+𝑦2 D)   buesa ls dksbZ Hkh ugha gS 

178-  3i + 4j - 5k   dh fn'kk esa fcUnq (1]2]3) ij (x, y, z) = xy2  + 4xyz   + z2   dk fn'kkRed O;qRiknd gS% 
(A)  78 

5√2 
(B) 

218 

5√2 
(C) 

148 

5√2 D)   buesa ls dksbZ Hkh ugha gS 

179-  yd d.k oØ x  =  t3   +  1,  y  =  t2   and  z  =  2t  +  5   ds lkFk pyrk gS tgk¡ ij t  le;  gSA 𝑣→ =  i  +  j  +  3k 

fn'kk esa t=1  ij osx dk ?kVd gksxk% 
(A) √12 (B) √13 (C) √10 (D) √11 

180-  osDVjksa 𝑎→, 𝑏 → and 𝑐→   ds vxzHkkxksa }kjk cukbZ f=kHkqt dk {ks=kQy gS% 
(A) 1 (𝑎→  - 𝑏 →) (𝑎→  - 𝑐→) (B) 1 |(𝑎→  - 𝑏 →)(𝑎→  - 𝑐→)|   (C) 1 |𝑎→   𝑏 →  𝑐→| D)   buesa ls dksbZ Hkh ugha gS 

2 2 2 

181-  ;fn 𝑟→ = xi + yj + zk   rks div.  𝑟→ dk ewY; gksxk% 

A)  1 B) 2 C) 0 D)   buesa ls dksbZ Hkh ugha gS 

182- curl (grad f ) i.e. f   dk ewY; cjkcj gS% 
(A) 1 (B) 2f (C) f f (D) 0 

183-  (-3, 1, 6) fcUnq ij x2  + y – z = 4   lery lrg ds fyy ;wfUkV lkekU; osDVj ekywe djsa% 
(A) 

−6i + j − k 
√38 (B) 

−i + j − k 
√3 (C) 

−i + 2j − k 
√6 D)   buesa ls dksbZ Hkh ugha gS 

184-  (1,1)  fcUnq ij y2 = x  vkSj x2 = y  oØksa dk izfrǔNns dks.k ekywe djsa% 
(A) 𝑠i𝑛−1 

3
 

4 
(B) 𝑡𝑎𝑛−1 

3
 

4 
(C) 𝑡𝑎𝑛−1 

4
 

5 D)   buesa ls dksbZ Hkh ugha gS 

185-  Qyu f(x) = 3x4  + 4x3  – 12x2  + 12   ds lhfer vf/dre ewY; gSa% 

A) 1 B) 2 C) -2 D) 0 

186-  vody lehdj.k 𝑑
2𝑦  

+ 5 
𝑑𝑦 

(   ) 
𝑑𝑥 

3 

+ 9 y = 0   dk ?kkr gS% 

A) 3 B) 1 C) 2 D) 5 

187-  vody lehdj.k (y + x3) dx + (x + 10y3) dy = 0  dk lkekU; gy gS% 
(A) 4xy + x4 + 10y4  = c (B) 4xy + x4 + y4 = c 

(C) 4xy + y4  = c D)   buesa ls dksbZ Hkh ugha gS 

188- gjsd le?kko lehdj.k f( x, y, z ) = 0  fu:fir djrk gS% 

A) ewyfcUnq ij dszUnz lfgr xksyk B)  ewyfcUnq ij dUs nz lfgr 'kadq 

C) csyu D)   buesa ls dksbZ Hkh ugha gS 
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189-  ewyfcUnq ls xtq  +jrh lHkh js[kkvksa dk vody lehdj.k gS 
(A) y = √𝑥 

𝑑𝑦 
(B) 

𝑑𝑦  
= x + y (C) 

𝑑𝑦  
= y – x D)   buesa ls dksbZ Hkh ugha gS 

𝑑𝑥 𝑑𝑥 𝑑𝑥 

190-  G. P. 3, 3, 3, …,   ds fdrus inksa dh t+:jr gS fd tksM+ 3069 gks tky 
2   4 512 

A)  8 B)   10 C) 9 D)   buesa ls dksbZ Hkh ugha gS 

191- ;fn f=kHkqt ds 'kh"kZyEc AP  esa gSa] rks f=kHkqt dh Hkqtky¡ fdl esa gSa% 
A) GP B)   AP C) HP D) AG 

192-  vadxf.krh; Js.kh eas vkjaHk vkSj var ls lekarjkyh inkas dk tksM+ cjkcj gS% 

A) vafre in B)   igyk in C) nwljk in D)   igys vkSj vafre in dk tksM+ 

193-  ;fn log 2, log (2n  – 1), log (2n  + 3) AP, eas gS]a  rks n  cjkcj g%S 
(A) log2 5 (B) log3 5 (C) 5 (D) 25 

194-  n  ?kVdksa lfgr ifjfer lsWV ds mi&lsWVksa dh la[;ky¡ gS%a 
(A) 2n (B) n! (C) n2 (D) nn 

195-  ;fn  cos2 A + cos2 C = sin2   B  rks f=kHkqt ABC  gS% 

A) leHkqt B)   ledks.k C) lef}ckgq D)   buesa ls dksbZ Hkh ugha gS 

196- eku ysa  R = { (x, y) | x + 2y = 8 }   ℕ, ij laca/ gS] rks R  dk izkUr gS% 
(A) {1, 2, 3} (B) {1, 2, 3, 4, 5, 6} (C) {2, 4, 6} (D) {1, 3, 5} 

197-  ;fn  bdkbZ dk ?kuewy gS] rks  cjkcj gS% 
 

 

(A) 3 (B) 
1−i
√3 
2 

198-  ;fn x2  – 3 |x| + 2 < 0   rks x   fdl ls lacaf/r gS% 

 

 

(C) 
1+i√3 

2 

 
 

(D) 
−1+i√3 

2 

(A) (– 2, – 1)  (1, 2) (B) (– 2, 1) C) (– 2, 2) D)   buesa ls dksbZ Hkh ugha gS 

199- fuEukafdr esa lc ls cM+k varjky] ftl ds fyy x12  – x9  + x4  – x + 1 > 0   gS% 
(A) (– 4, 0) (B) (0, ) (C) (– 4, 4) (D) (– 100, 100) 

200- Sin  (cot-1 x)  dk eYw ; gSSSS % 

 

 

 
 

 

(A) √1 + 𝑥2 (B) x (C) 1 
√1+𝑥2 

(D) 1 
𝑥 
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Instructions : 
1. Write your roll number on the Question Booklet and also on the OMR Answer Sheet only in the space 

provided and nowhere else. 

2. Enter the Question Booklet Number and Series on the OMR Answer Sheet by darkening the corresponding 

bubbles with Black/Blue Ball Point Pen only. 

3. To open the Question Booklet, remove the Staple Pin gently. 

 

4. Check that the Question Booklet contains 200 Objective Type questions with multiple choice answers. In 

case of any discrepancy, inform the Invigilator within 10 minutes of the start of test. 

5. Each question has four alternative answers A, B, C & D, of which only one is correct. Darken only one 

bubble A, B, C or D, whichever you think is the correct answer, on the OMR Answer Sheet with 

BLACK/BLUE BALL POINT PEN only. 

6. All questions are of 1 mark each. THERE IS NEGATIVE MARKING. 1/4 marks will be deducted for 

every wrong answer. 

7. Rough work is to be done on the question booklet only. 

 

8. Do not make any identification mark on the OMR Answer Sheet or Question Booklet. 

 

9. The Answer Sheet is designed for computer evaluation. If the instructions are not followed properly, the 

candidate alone shall be responsible for the resultant loss so caused. 

10. After the test, hand over the Question Booklet and OMR Answer Sheet to the Invigilator on duty. 

 

11. Telecommunication equipments, such as calculators, pager, cellular phone, wireless & blue tooth devices 

etc. and weapons are not permitted inside the examination hall. 

12. Nothing is to be copied/noted from the given OMR Answer Sheet and Question Booklet, and be taken out 

of the Examination Hall. Any candidate found doing so would be expelled from the examination. 

13. A candidate who creates disturbance of any kind or changes his/her seat, or is found in possession of any 

paper possibly of any assistance, or found giving or receiving assistance, or found using any other unfair 

means during the examination will be expelled from the examination. The decision of the Observer shall be 

final. 

14. The candidates will not be allowed to leave the Examination Hall before the expiry of time. 
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Key PGT(MATHS-9) 1.6.2014 

Q.No. Ans. Q.No. Ans. Q.No. Ans. Q.No. Ans. Q.No. Ans. 

1 B 41 D 81 C 121 D 161 C 

2 D 42 A 82 D 122 C 162 D 

3 A 43 C 83 C 123 C 163 A 

4 B 44 B 84 C 124 A 164 C 

5 D 45 C 85 B 125 B 165 A 

6 B 46 A 86 D 126 C 166 D 

7 D 47 D 87 A 127 D 167 B 

8 A 48 C 88 B 128 B 168 D 

9 C 49 B 89 D 129 A 169 C 

10 D 50 D 90 A 130 C 170 A 

11 C 51 A 91 C 131 D 171 B 

12 D 52 B 92 A 132 B 172 D 

13 D 53 D 93 C 133 C 173 C 

14 B 54 C 94 D 134 D 174 A 

15 D 55 D 95 A 135 A 175 B 

16 B 56 D 96 B 136 C 176 B 

17 C 57 A 97 C 137 A 177 C 

18 D 58 B 98 A 138 C 178 A 

19 A 59 B 99 B 139 B 179 D 

20 C 60 D 100 D 140 D 180 B 

21 A 61 A 101 A 141 A 181 C 

22 B 62 B 102 B 142 B 182 D 

23 C 63 C 103 C 143 A 183 A 

24 D 64 B 104 D 144 C 184 B 

25 A 65 C 105 A 145 B 185 D 

26 B 66 B 106 B 146 A 186 C 

27 C 67 D 107 C 147 C 187 A 

28 D 68 B 108 D 148 D 188 B 

29 A 69 C 109 A 149 B 189 D 

30 B 70 D 110 B 150 C 190 B 

31 C 71 B 111 C 151 A 191 C 

32 D 72 C 112 D 152 B 192 D 

33 A 73 A 113 A 153 D 193 A 

34 B 74 A 114 B 154 B 194 A 

35 C 75 A 115 C 155 A 195 B 

36 D 76 C 116 D 156 C 196 C 

37 A 77 B 117 A 157 D 197 D 

38 B 78 B 118 B 158 A 198 A 

39 C 79 A 119 C 159 B 199 B 

40 D 80 B 120 D 160 A 200 C 
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	1- l`f"V dk foykse 'kCn gS &
	A)  tBjkuy B)  cM+okuy C)  dkekuy D) nkokuy 3- ^ges'kk jgus okyk* & yd 'kCn crykya \
	A)  tks ifjJe djrk gS] ogh vkxs c<+rk gS A B)  eaS i<+rk g¡w vkSj og xkrk gS
	A)  detksj O;fDr B)  pkykd O;fDr C)  vuqHkoh O;fDr D)  vuqHkoghu O;fDr 6- ^psgjs ij gokb;k¡ mM+uk* dk vFkZ gSS%
	A)  nku ds fyy lqik=k u gkus k B)  xta  s O;fDr ds flj ij lqxfU/r rys yxkuk
	A)  phuh B)  tkikuh C)  izÚsap D)  vaxzsth 9- ftu 'kCnksa dh mRifÙk dk irk ugha pyrk] mUgsa dgk tkrk gS&
	A)  drkZ B)  deZ C)  dj.k D)  viknku 11- fuEufyf[kr eas ls dkSulk 'kCn gS tks lnSo L=khfyax esa iz;qDr gksrk gS\
	A)  fo"k&fo"kSyk B)  firk&iSrd` 13- ^lqUnj* dh Hkkookpd laKk g\S
	15- fo/ku djus okys 'kCnksa dh fo'ks"krk crykusokyk 'kCn fdls dgrs gSa\
	16- ^lh<+h ds lgkjs eSa tgkt ij tk igq¡pk* okD; esa ^lh<h+  ds lgkjs* D;k g\S
	D)  dksbZ ugha
	18- vuqukfld O;atu dkSu&ls gksrs gSa\
	A)  laU;klh B)  lu;klh C)  lU;klh D)  lau;klh 20- fuEufyf[kr esa ls dkSu lk okD; 'kq¼ gS\
	C)  eSa xkus dk vH;kl dj jgk gw¡ A D)  eSa xkus dk O;k;ke dj jgk gww¡ A
	Section – B
	Direction: (Q.Nos. 72-73) Choose the one of the four given alternatives that shows the same relationship as is found between the two words/ numbers to the left of the sign::
	Direction (Q. Nos. 81-83) : Ten students A, B, C, D, E, F, G, H, I and J are sitting in a row facing west. B and F are not sitting on either of the edges; G is sitting to the left of D and H is sitting to the right of J. There are four persons between...
	Direction (Q. Nos. 89-90): Read the pattern of letters/ numbers/terms and find the missing term from the given alternatives:
	Direction (Q.Nos. 93-94): 120 candidates appeared for examination in three subjects, namely, English (E), Maths (M) and Science (S). The number of candidates who failed in E, M and S are shown in the diagram given below:
	Direction (Q. No. 99-100) : Five members A,B,C,D and E of a family eat Grapes, Apple, Watermelon, Pomegranate and Pineapple one by one after their lunch from Tuesday to Saturday. Each of them eats only one fruit a day.   No two members   eat the same ...

	41- ok;qe.My ds iznw"k.k ds dkj.k vEy o`f"V fdl }kjk dh tkrh gS%
	C)  vkst+ksu vkSj dkcZu MkbvkWDlkbM D)  ukbVªl vkWDlkbM vkjS
	42- ns'kkUrj dks.kh; nwjh dks ekirk gS ftl dks i`Foh dh lrg ij fcUnq dh fMfxz;ksa esa O;Dr fd;k tkrk gS%
	C)  vkfn&js[kka'k ds dsoy iwoZ D) vkfn&js[kka'k ds dsoy if'pe 43- fctyh ds cYc dk fQykesUV fdl dk cuk gksrk gS%
	45- Vsfyfot+u izlkj.kksa esa vkfM;ks flXuykas ds laØe.k ds fyy i;z qDr rduhd gS%
	46- lafo/ku dh MªkfÝVax  lfefr ds vkxs izLrkouk fdl us izLrkfor dh Fkh%
	A)  ch- lh- pSVthZ }kjk jfpr Hkkjr fo/krk fucU/  B)  Vsxksj }kjk laikfnr if=kdk rksRok&cksf/uh
	48- cSda eq[;r% cSad psdkas dh ikz slsflax esa fdl MkVk bUiVq fof/ dk iz;ksx djrs g%aS
	49- xqtjkr jkǔ;  fuokZpu vk;ksx dk czkaM yecslsMj fdl dks fu;qDr fd;k x;k gS%
	50- xksok esa gqy Hkkjr ds 44&osa varjjk"Vªh; fQYe mRlo (IFFI)  esa Js"B fQYe dh dksfV esa xksYMu ihdkWd iqjLdkj
	A) 94&oka B)  77&oka C)  104&oka D)  116&oka 52- ekuo fodkl lwpdkad dk ?kVd dkSu&lk ugha gS%
	C)  okLrfod izfr O;fDr vk; D)  izkS<+ lk{kjrk nj 53- flU/q ?kkVh lH;rk dk canjxkg 'kgj dkSu&lk gS
	A)  UNIVAC B) EDVAC C) ENIAC D)  bu esa ls dksbZ Hkh ugha gS 55- Hkkjr esa fLFkr fdl jsyos IysVQkeZ dks gky gh esa fo'o esa lc ls cM+k jsyos IysVQkeZ ?kksf"kr fd;k x;k gS%
	56- LVsV cSad vkWQ bfUM;k dh igyh efgyk vè;{k dk uke gS%
	57- dj iz'kklu lq/kj vk;ksx fdl dh vè;{krk esa LFkkfir fd;k x;k gS%
	58- fcVdkWbu ds ckjs esa lgh D;k gS%
	C) FkkbySaM ds cSad us bls oS/ eqnzk ds :Ik eas Lohdkj fd;k
	1- nf{k.kh ÝyksfjMk 2- IohVks jhdks 3-  gokbZ  }hi mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa %
	61- fdl ns'k us inq "kksa dk gkWdh yf'k;k di 2013  thrk g%S
	62- fdl ns'k us 11&osa ICC  fØfdV fo'o di esa igyh ckj [ksyus dh vgZrk izkIr dh gS%
	63- fdl Hkk"kk dks dsUnzh; eU=khe.My us gky gh esa Hkkjr dh NBh Dykfldh Hkk"kk Lohdkj fd;k gS%
	64- fdl ys[kd dks vaxzts  +h eas 2013 dk lkfgR; vdkneh iqjLdkj iznku fd;k x;k Fkk%
	65- Hkkjr ds ijek.kq&;ksX; j.kuhfrd vL=k dk uke crkvks ftl ds 4000km  izgkj ijkl dk lQyrkiwoZd ijh{k.k fd;k x;k gS%
	67- 23 fnlacj 2013 dks laiw.kZ Hkkjr eas fdl ds :Ik esa euk;k x;k Fkk%
	C)  jk"Vªh; foKku fnol D)  fdlku fnol 68- fdl 'kgj us 2012&13 ds fyy lokZsÙe fojklr iqjLdkj  izkIr  fd;k gS%
	A)  ye- yl- LokfeukFku B)  yUtys  k  edZsy
	70- fdl dks fel vFkZ 2013 dk rkt iguk;k x;k Fkk %

	funsZ'k % (iz'u Uak- 72&73) % fn, x, pkj fodYiksa esa ls ,d fodYi dks pqusa tks mlh laca/ dks n'kZkrk gS tks fpUg : :  dh ckb±Z vksj nks  'kCnksa@la[;kvksa esa gS%
	72- lanw"k.k  %  vkgkj  : :   laØe.k  % \
	74- ml 'kCn&tksM+s dks pqusa ftl dk ogh laca/ gS tks fny xy tksM+s esa g%S Hktu % Lrqfr
	75- fuEukafdr pkj esa ls rhu fdlh rjhds ls leku gaS
	vkSj blhfyy yd lewg cukrs gSa A og yd dkSu&lk gS tks bl
	76- v{kj la[;k vuqØe esa dkSu&lk fQV ugha gksrk%
	79- ‘YPCUIAT’  yd vFkZiw.kZ 'kCn ds ?kkyesy v{kj gSaA bu v{kjksa dks iqu% Øec¼ djas vkSj fny xy fodYiksa esa ls ml 'kCn dks pqusa tks iqu% Øec¼ 'kCn ls vFkZ esa fon¼kFkZd gks%
	^xq.kk*;  = dk eryc gS ^ls de*;  <  dk eryc gS ^Í.k&fpUg*;  rks fuEukfa dr esa ls dkSu&lk lgh gS%

	iafDr eas cSBs gSaA B  vkSj F  fdlh Hkh fljs ij ugha cBS  s gaS_ G,  D  dh ckbZ± vksj vkSj H,  J  ds nkbZ± vksj cSBk gSA E
	vkSj D  ds njfe;ku gS vkSj G, E  vkSj F  ds njfe;ku gSA H  vkSSj C  ds njfe;ku nks O;fDr cBS
	s gSaA
	82- I  ds fcYdqy lkFk dkSu cSBs gSa
	83- ;fn G  vkSj A  vius LFkku yd nwljs ls cny ysa] rks E  ds fcYdqy ikl dkSu gS\
	84- yM+dkas
	8&oka gSA yM+dksa eas vt; dk jSad
	esa v.kq dk jSad rhljk gSA d{kk esa] nwljs fljs ls v.kq dk jSad 52&oka gSA yMd+
	fljs ls vt; dk jSad 26&oka gSA nwljs fljs ls yM+fd;ksa eas v.kq dk jSad fdruk gS%
	85- rlohj eas yd efgyk dh vksj b'kkjk djrs gqy] js[kk us dgk;  ^ml ds csVs dk firk esjh ekrk dk nkekn gS*A js[kk dk ml efgyk ls D;k fj'krk gS%
	87- jke vius ?kj ls xkM+h esa 10  kms  nf{k.k dh rjQ tkrk gS] cky¡ eqM+rk gS vkSj 10  kms  vkSj tkrk gSA og ckbZ± vksj
	og dke djrk gSA jke dk cSad mlds ?kj ls fdruh nwjh ij vkSj fdl fn'kk eas gS%

	funsZ'k (iz'u ua- 89&90) % v{kjksa@la[;kvksa@inksa ds isVuZ dks i<s+a vkjS ekywe djsa%
	fuEukafdr fodYiksa esa ls xk;c in
	90- 266] 339] 528] \
	91- fuEukafdr yM+h eas dNq
	v{kj xk;c gSa tks mlh Øe esa yd fodYi ds :Ik esa uhps fny xy gSaA lgh fodYi dks
	92- yd O;fDRk dks ml dh vk;q dks lkykas esa crkus ds fyy dgk x;k FkkA ml dk mÙkj Fkk] ^esjh rhu lky ds ckn
	dks irk py tkyxk fd esjh vk;q fdruh gSA O;fDr dh vk;q D;k Fkh%

	funsZ'k (iz'u ua- 93&94)%  120 fo|kFkhZ vaxszt+h (E)  xf.kr (M)  vkSj foKku (S)  rhu fo"k;ksa esa ijh{kk esa cSBsA tks fo|kFkhZ E, M  vkSj S  esa Qsy gq, mu dh la[;k dks uhps fn, x, js[kkfp=k esa fn[kk;k x;k Gsa
	93- tks  fo|kFkhZ de ls de yd fo"k; esa Qsy gqy] mudh la[;k gS%
	95- uhps fny js[kkfp=k esa fdrus f=kHkqt gSa%
	96- yd isaVj us yd f=k?kkrh cDls dks bl ds fofHkUu eq[kkas dks Ng fHkUu jaxksa ls isaV fd;k gSA yky eq[k ihys vkSj Hkwjs eq[k ds njfe;ku gSA gjk eq[k jftr eq[k ds vklUu gSaA xqykch eq[k gjs eq[k ds vklUu gSA Hkwjk eq[k uhps gSA jftr vkSj xqykch eq[k y...
	98- yd jsyxkM+h X,  A  ls 'kke 4 cts pyrh gS vkSj B  ij 'kke 5 cts igqp¡
	'kke 4 cts pyrh gS vkSj A  ij 'kke 5-30 cts igq¡p tkrh gSA nksuksa jsyxkfM+;k¡ yd nwljh dks dc ØkWl djsaxh%

	funsZ'k (iz'u ua- 99&100) % ,d ifjokj ds ik¡p lnL; A,B,C,D,  vkSj E  exa  yokj ls 'kfuokj rd nkis  gj ds
	,d fnu esa ugha [kkrsA u B  vkSj u gh E  cq/okj dks rjcwt+ ;k vaxwj [kkrs gSaA A  xq:okj dks vukj [kkrk gSA
	dks vaxwj [kkrk gSA A  exa
	okj dks vUkUukl [kkrk gS A
	99- E  'kqØokj dks dkSu&lk Qy [kkrk gS%
	100- D  fdl fnu rjcwt+ [kkrk gS%
	101- ;fn d{kk esa tks dqN i<+k;k tk jgk gS] og fo|kFkhZ dks le> esa u vk jgk gks] rks vè;kid dks %
	C)  ;g eglwl djuk pkfgy fd og le; cckZn dj jgk gS D)  fo|kfFk;Z ksa ij rjl [kkuk pkfgy
	A) yEck dFku B)  lqfuf'pr dFku
	103- d{kk ds egkSy ds fo'ks"k lna
	lquus dk yd eq[; vo;o gS%
	104- fo|kFkhZ ds vkifÙktud O;ogkj dks :ikarfjr djus ds fyy] vfrvf/d iHz kkodkjh fof/ gS%
	B) ekrk&firk ds uksfVl esa ykuk
	D) mlds vkifÙktud O;ogkj ds dkj.kksa dks ekywe djuk vkSj bykt djuk
	A) fo"k; dks mi;qDr mnkgj.kksa ls le>kuk pkfgy B)  mudks rqjUr mÙkj nsuk pkfgy
	106- f'k{kk laLFkk eas f'k{kk dh xq.krk dk egRoiw.kZ lda  srd g%S
	C) ikB~;iqLrd vkSj vè;kiu&vf/xe lkexzh D)  d{kk O;oLFkk 107- f'k{kk ij dksBkjh vk;ksx fjiksVZ dk 'kh"kZd D;k Fkk %
	A)  ye- ds- xk¡/h B)  yl- jk/kd`".ku C)  Lokeh n;kuna 109- uoksn; Ldwyksa dk laLFkkiu fdl ds fyy fd;k x;k gS%
	A) xzkeh.k  {ks=kksa esa vǔNh f'k{kk iznku djus ds fyy  B)  xzkeh.k {ks=kksa esa Ldwyksa dh la[;k c<+kus ds fyy
	A)  Vh- ih- uu B)  Qzkscsy C)  LisUlj D)  ekWUVsljh 111- ubZ f'k{kk uhfr dk eq[; iz;kstu gS%
	C)  laiw.kZ f'k{kk O;oLFkk esa lq/kj ykuk D)  f'k{kk O;oLFkk dk vè;kRehdj.k djuk
	A) vkSipkfjd  f'k{kk B)  rduhdh f'k{kk C)  /eZ&fujis{k f'k{kk D)  vukSipkfjd f'k{kk 113- f'k{kk dk y{; eq[;r% gksuk pkfgy%
	B) fo|kfFkZ;ksa dh O;kolkf;d dq'kyrkvksa dks fodflr djuk
	D) mu ds eu esa ?kkrd izfr;ksfxrk  dh Hkkouk dks cSBkuk
	A) varjjk"Vªh; lg;ksx B)  vè;kid dh f'k{kk dh xq.krk
	A)  ywbl fQ'kj B)  yfjd izÚkWe C)  ykjsal dksgycxZ D)  crksZYr czpS  r 116- ;'kiky lfefr fjiksVZ (1993) dk uke gS%
	C)  izlkj.k }kjk f'k{kk&ikz fIr D)  Hkkj&eqDr  f'k{kk&izkfIRk 117- ^fdaMjxkVZu* in dk vFkZ g%S
	C)  cǔpksa dk ?kj D)  cǔpksa dh jax'kkyk
	A) izdf` roknh  n'kZu us fd;k gS B)  fOkDVkfs j;k  ;qx  esa  fd;k x;k gS
	A)  jVu daBLFkdj.k B)  x`g dk;Z C)  iwN&rkN Hkkouk D)  lq[k  izkfIr 120- ifjppkZ fdl dk izdkj gS%
	Section – C (Subject Knowledge)

	gS%
	A)  lefer B)  uy esfVªDl C)  fo"ke lefer D)  buesa ls dksbZ Hkh ugha gS 27- ;fn A  fo"ke lefer esfVªDl gS] rks A2  gS%
	132- yd js[kk dh <yku] tks P(0,  -  4)  vkSj B(8,0)  fcUnqvksa dks feykus okys js[kk&[kaM ds eyw xqt+jrh gS] gS %
	pkfgy %  &
	A) uhps ls vifjca/ B)   vfHklkjh C)  vilkjh D) bu esa ls dksbZ Hkh ughsa gS
	A) vfHklkjh B)   ifz rca/d vfHklkjh C) vilkjh D)   bu esa ls dksbZ Hkh ughsa gS
	dk ewY; cjkcj gS%
	C) dqN fcUnqvksa ij f(x)  ifjHkkf"kr ugha gS D)   buesa ls dksbZ Hkh ugha gS 147- (0, ∞)   esa dkSu&lk ydleku v[k.M ugha gS%
	D)  buesa ls dksbZ Hkh ugha gS
	149- lekdy
	D)  buesa ls dksbZ Hkh ugha gS (1)
	dk vfHklj.k R  dk O;klk/Z gS%
	154- yd Ldwy essa 20 vè;kid gaS tks xf.kr vFkok HkkSfrdh i<+krs gSaA buesa ls] 12 xf.kr i<+krs gSa vkjS HkkSfrdh i<+krs gSaA dsoy HkkfS rdh fdrus vè;kid i<k+ rs gSa%
	4 xf.kr vkSj
	c<+ jgk g%S
	D)   buesa ls dksbZ Hkh ugha gS
	k tkrk gS vkSj rjaxas
	o`Ùkkdkj rjax dk O;klk/Z 8cm  gS] rks ifjc¼ {ks=k fdruh rst+h ls c<+ jgk gS%
	163- osDVj –  4 ı^  +  5 𝑗^   dks 1800  ds dks.k }kjk izfr&nf{k.kkoÙkZ ?kqek fn;k tkrk gS vkSj 1½   xquk QSyk fn;k tkrk gSA uy cus osDVj ds vuq:i lfEeJ  la[;k gS%
	168- ik¡p isz{k.kksa dk ekè; 4 gS vkSj budk izlj.k 5-2 gSA ;fn buesa ls rhu 1]2]6 gSa] rks vU; nks gaS%
	169- vko`fÙk forj.k es]a
	d yxHkx gS%
	170- 100 izs{k.kksa dk ekè; 45 gSA ckn esa ekywe gvq fd;k x;k Fkk] rks lgh ekè; gS%
	D)   buesa ls dksbZ Hkh ugha gS (1)
	173- yd csrjrhcs  Øe esa fcuk nksgjky 1]2]3]4]5 vadkas ds iz;ksx ls yd 5 vadkas dh la[;k cukbZ tkrh gSA og la[;k 4 }kjk Hkkǔ; gS] bldh laHkkouk g%S
	174- yd flDds dks  3 ckj mNkyk tkrk gSA oSdfYid rkSj ij fpÙk vkSj iV vkus dh laHkkouk gS%
	175- 22&oha  'krkCnh esa ;knf` ǔNd <ax ls pqus yd o"kZ eas  53 brokj gksus dh laHkkouk gS%
	D)   buesa ls dksbZ Hkh ugha gS (2)
	D)   buesa ls dksbZ Hkh ugha gS (3)
	fn'kk esa t=1  ij osx dk ?kVd gksxk%
	dk ewY; gksxk%
	D)   buesa ls dksbZ Hkh ugha gS (4)
	dks.k ekywe djsa%
	D)   buesa ls dksbZ Hkh ugha gS (5)
	A) ewyfcUnq ij dszUnz lfgr xksyk B)  ewyfcUnq ij dUs nz lfgr 'kadq
	189- ewyfcUnq ls xtq  +jrh lHkh js[kkvksa dk vody lehdj.k gS
	192- vadxf.krh; Js.kh eas vkjaHk vkSj var ls lekarjkyh inkas dk tksM+ cjkcj gS%
	194- n  ?kVdksa lfgr ifjfer lsWV ds mi&lsWVksa dh la[;ky¡ gS%a
	197- ;fn  bdkbZ dk ?kuewy gS] rks  cjkcj gS%
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